Grooving / Cut-off Turning Tool External Cut-off / Grooving turning tool

(Cutting Speed): m/min’' (mm)
PCD | CBN-K  CBN-S | ZN60 2ZN90 ZK01 | ZC250  ZzC251  ZC32S | ZP152  ZP153  ZP163 | ZK50  ZK50S
cvD cvD cvD
150-600 150-800 70-500 150-500 150-600 70-250 100-250 80-300
150-350 150-500 70-250 80-350 100-400 70-150 80-150 60-200
HRC46-58 10-30 20-60 20-60 20-80
M 200-300 200-350 50-150 70-150 50-200
K 300-1500 100-300 100-350 200-300  200-350
400-800 100-200 100-250 150-200 150-250
300-1200 300-1200
(EEL=/Y 300-1500 300-1500
Cutting Environment @ StableCutting @ General Cutting 4 Unstable Cutting Cutting Environment @ StableCutting @ General Cutting 4 Unstable Cutting WERCallY 300-800 300-800
P Steel o0 20xe P Steel o0 20xe 30'00‘1;;0 301:130000 -
M Stainless Steel o PYO) M Stainless Steel o Y0 S 400-500 4007500 -
K ron °me # K ron d bd * - 100:200 100:200 20-50 20-60 30-80
N pp! Plastic/Wox () ) N opper Plastic/Wo ) ')
S Carbide/Powder Metallurgy Y 20 S Carbide/Powder Metallurgy Y )
- Titanium/Superalloy/Carbon Fiber 0 =l - Titanium/Superallay/Garbon Fiber 5 <l Cutting Environment @ Stable Cutting @ General Cutting 3§ Unstable Cutting Cutting Environment @ Stable Cutting @ General Cutting 3§ Unstable Cutting
> . . > . . P Steel 00 20%e P Steel 00 20%e
3 Dimension X oo™ 3 Dimension X o—am
5 Dimensioning | Product Image | Specification nzz35882e ¢ Dimensioning | Product Image | Specification nzz3588Le M Stainless Steel o 8O M Stainless Steel o @0
) omnmMZx00on ) ommzx¥oooo
5 wire|L|B|H|O EOONNNNNN 5 Wlre| L |B|H|O[EOONNNNNN K Iron o o % K Iron o o 8
N nc/Plasti ° 0 N pp Plastic/Wood ° o
" e N123 F2-0300-RM |3.00/1.50]18.6| 1.3 H. S Carbide/Powder Metallurgy ° EY') S Carbide/Powder Metallurgy ° EY')
) ﬁ wizsozotsocaszonl 1502l - . . B ﬁ 222.%310%._%% igg ;.gglg.f 1: : : - Titanium/Superalloy/Carbon Fiber ° %@ - Titanium/Superalloy/Carbon Fiber [ L
g b= B E2:0200-0002-CM| 2.0 0.2[19.0 - N N 2 H2-0400-RM |4.00[2.00|23.1) 1.8 o e 2 ) <5 B-2.8 H ) ol BN
é’ ";} 222-%%%22%’13 gg gg 13': o . H ‘%‘ :g:ggég:gm gggggggs gg : : § Dimensioning Product Image Specification Blimensio 8%%555533 g_; Dimensioning Product Image Specification Bimension Sgégégggg
E @ ] H2-0400-0002-CM| 4.0 0.2 241 - | - | - . . =A= W] J2-0600-RM |6.0003.00[22.2| 2.8 o . S wire|L L OONNNNNN - 5 Wire|L 0 OONNRNRNNN
7\/L J2:0500-0002:CM | 5.0/ 0.2124.1) = | - - * * 7\/L J2-0635-RM [6.35(3.18|22.0| 3.0 o .
L2-0800-RM |8.00|4.00[27.0| 3.8 o o
A4G  0205M02U02GMN |2.05/ 0.2 | 20 e oo
0255M2BU02GMN  |2.62 0.2 | 20 o oo
0305MO3U02GMN  (3.05/ 0.2 | 20 e oo
“ ”1235533833333 ooloalel N B e giggmgiﬂgjgm 00904120 BB /< AR 0205MO2UO0GMN  |2.051.1| 20 o e
E~ =—— < H2-0400-0008-TM | 4.0 | 0.8 [23.4] - . . o | o—mw Ty 482 38 28 HE E==®w] 0305M03U00GMN ~ |3.05( 1.5 | 20 o o
[y Nee J20500-0004-TM | 5.0| 0.4 23.4 - . . g B e o N M- . ‘ L ‘ 0405M04UO00GMN  |4.05[ 2.0 | 20 e oo
% —— 12-0500-0008-TM | 5.0{ 0.8 [23.0| - o e 3 —— ggggmggﬂggemm e B o g 0505M05U00GMN  [5.05/ 25| 25 o oo
g . H A ‘B 0605M06UOOGMN  [6.05|3.0 | 30 o oo
: & Koda0n0s T 50|08 [paq] - o B F = = T sosMocLOGNIN .5l 04 30 MR B == I 0805MOBUOOGMN  |5.054.0| 30 o e
7y 12-0800-0008-TM | 8.0 0.8 [28.0| - . . 7_\/ 0605MOBU12GMN 6,051 12| 30 H.E 7u\>/ 1005M10U00GMN  |10.0[ 5.0 30 o oo
12-0800-0012-TM | 8.0| 1.2 [27.6| - . . o
0805M08UO8GMN  [8.05| 0.8 30 o oo
0805MO08U12GMN  [8.05 1.2 | 30 o oo
1005M10UO8GMN  [10.0 0.5| 30 e oo
1005M10U12GMN  [10.0] 1.2| 30 o oo
RF123 A4SMR
External Cut-Off/Grooving p= _ = < External Cut-Off/Grooving
L | L
S B
—
=
. Tmax o <
34 o
f o L ‘
L1
= (Inserts): A39/B99 (Toolholder Parts): P01-P04 R-Type o« Tmax o
3|
Order T
Number 7 t
R-Type
R/ILF123E 1010J-2T12 2 10 10 110 10 10 12 M4x16 T15 e | ® 253610
1212J-2T12 2 12 12 110 12 12 12 o | o [253612 = (Inserts): A37/B100 (Toolholder Parts): P01-P04
1616H-2T17 2 16 16 | 100 | 16 16 17 N123E2.. e | e 253614
2020K-2T17 2 20 20 125 | 20 20 17 M5x20 L4 e | e 253616
2525M-2T17 2 25 25 150 25 25 17 e | o (253618 Nou:st:.r
R/ILF123F 1616H-2.5T18| 2.5 16 16 100 16 16 18 e | o |253620
2020K-2.5T18 2.5 | 20 20 | 125 | 20 20 18 N123F2.. M5x20 L4 ® | e 253622 A4SM RIL 2020K0317 3 AAGOI00M3 e | o |253630
2525M-2.5T18| 2.5 25 25 150 | 25 25 18 e | o 253624 2525K0317 5 25 25 150| 25 | 25.3| 17 A4GO305M3” M5%20 L4 ® | e 253632
RILF123G 1616H-3T20 3 16 16 | 100 | 16 16 20 e | o | 253626 3232P0317 3 32 32| 170| 32 | 32.3] 17 " e | o | 253634
2020K-3T20 & 20 20 | 125 | 20 20 20 N123G2.. M5x20 L4 e | o | 253628 A4SM RIL 2020K0417 4 20 20 | 125| 20 | 20.3] 17 ALGOA00MA e | o | 253636
2525M-3T20 3 25 25 | 150 | 25 25 20 e | e | 253630 2525K0417 4 25 25| 150| 25| 25.3| 17 A4GO405M4.. M5x20 L4 e | e 253638
RILF123H 1616H-4T25 4 16 16 | 100 | 16 16 25 e | o | 253632 3232P0417 4 32 32 | 170| 32 | 32.3] 17 " e | o | 253640
2020K-4T25 4 20 20 | 125 | 20 20 25 N123H2.. M5x20 L4 e | o | 253634 A4SM RIL 2020K0520 5 20 20 | 125| 20 | 20.3] 20 ALGOS0OMS e | o | 253642
2525M-4T25 4 25 25 150 | 25 25 29 ® | o (253636 2525K0520 5 25 25 150| 25 | 25.3] 20 A460505M5” M5x20 L4 ® | e 253644
R/ILF123J 2020K-5T25 5 20 20 125 | 20 20 25 N123J2 M5x20 L4 ® | e 253638 3232P0520 5 32 32 170 32 | 32.3| 20 - e | e | 253646
2525M-5T25 ) 25 25 | 150 | 25 25 25 - e | e |253640 A4SM RIL 2525M0626 6 25 25 | 150| 25| 25.3| 26 A4G0OB00MS5.. M5x20 L4 e | o | 253647
3232P0626 6 32 32 170 32 32.3 26 A4G0605M5.. e | ® | 253648




Grooving / Cut-off Turning Tool

External Cut-off / Grooving turning tool

GC

Cutting Environment @ Stable Cutting @ GeneralCutting 4 Unstable Cutting Cutting Environment @ Stable Cutting @ GeneralCutting 4 Unstable Cutting

DGTR

External Cut-Off/Grooving

P Steel 00 X0xe P Steel 00 xZ0xe
Cutting Environment @ StableCutting @@ General Cutting 3§ Unstable Cutting M Stainless Steel o 8O M Stainless Steel (o) ®O
K Iron e o % K Iron o o ®
P Steel 00 20x@ _ .
N pp! Plastic/ ° ) N Plastic/Wood )
M Stainless Steel o &0 : -
K I o o % S G e Ry ° £ S Carbide/Powder Metallurgy %@
ron
Titanium/Superalloy/Carbon Fiber ° B Titanium/Superalloy/Carbon Fiber ° %@
N . i il il
S Carbide/Powder Metallurgy ° P g, Dimension X o—a®m ‘,3 Dimension X0 o™
3 Dimensioning Product Image | Specification Nnzz35J822 5 Dimensioning Product Image | Specification nzz35J822
- Titanium/Superalloy/Carbon Fiber ° 2@ 8 Cam=2802a © a2 E N
> S WIlre|L|B|H|H|OONNNNNN 3 Wl re| L |B|H|O|mOONNNNNN
3 Dimension o oM
s SEEAhhte B e
5 Dimensioning | Productimage |  Specification |w |re | L | B 6 [ OONNNRNNN 2 GCMN3004-MG  [3.0(04 (211 - |38/ - o @EL@ﬁ GCMN 38;3'?8 30[15[211| - |38] - o
S 4008-MG |4.0|0.8[26.4 - |40] - o o - T 4020-R( 4.0|2.0(26.4| - |40 o o
B 5008-MG |5.0(08(264 - 41| - o . ¢t 5025RG |5.0|2527.2 - |41 - o .
g 6008-MG |6.0(08|264| - |45| - o o H 6030-RG |6.0[3.0275 - |45/ - o o
B, S H 7008-MG | 7.0]038[28.7] - [55] - o o Hﬁ’, 7035-RG  [7.0(35[290 - [55] - o o
8008-MG |80|08287 - |60] - e o 8040-RG |8.0|4.0(290 - |6.0] - o o
@E DGN 2002C 20(0219.9] - o o 7 JI
DN\ 2502C 25(02[207 - « oo
— 3102C 3.10220.1| - ° e
g @¢ 5 4003C 40|03 188 - ¢ e
- " 5003C 50/03[19.1| - o o
T
re
5 /
==l DGN 2002 20|02}199] - o .
. \re 3102J 3.1]10.2{20.1| - M M°
‘(—>‘ 4003J 40|03 (188 - M B°
s - 5003J 5.0(03[19.1] - o oo
CR =AW ..
7 JI&

GNDLR

External Cut-Off/Grooving

- = I = <
= e
L |
L } L1
L1 | L E—
Tt o Tmax a
Tmax 2|
Y -~ e}
3 —
T —_— R-Type
t R-Type
t A0 (oolholder Parte): PO1-P04 = (Inserts): A38/B102 (Toolholder Parts): P0O1-P04
ﬂ% nserits): oolnolder rFarts): -
Order
Order Number
Number GNDL RIL 2020K-216 2 | 20| 20| 125| 20| 20.3| 16 e | e 253650
DGTRIL 10B-2D30 2 e | 0 [253300 2525M-216 2 25| 25| 150| 25 | 25.3| 16 | GCMN2002-GG M6x20 L5 o | ® (253652
12B-2D30 2 12 12 125 12 12 30 DGN2.. ® | 0 [253302 3232P-216 2 32 32 170 32 | 32.3] 16 e | @ (253654
168-2032 2 | 16 | 16 | 125 | 16 | 16 | 32 DGN2.. M5X16 L4 e | 0 (253304 GNDL RIL 2020K-320 3 | 20| 20| 125] 20| 20.3] 20 e | o (253656
16B-3D35 8 16 16 125 16 16 35 DGN3.. ® | O (253306 2525M-320 3 25 25 150 25 25.3 20 | GCMN3002-GG M6x20 L5 e | o 253658
20B-2D35 2 20 20 125 | 20 20 35 DGN2.. ® | O [253308 3232P-320 3 B2 32 170 32 | 32.3| 20 e | e [253660
20B-3D40 3 | 20| 20 | 125 | 20 | 20 | 40 DGN3.. M5X20 L4 e | 0 253310 GNDL RIL 2020K-425 4 | 20| 20| 125| 20| 20.3] 25 e | e 253662
25B-2D35 2 25 25 | 150 | 25 25 35 DGN2.. M5X20 L4 e | 0 (253312 2525M-425 4 25 25 | 150| 25 | 25.3] 25 | GCMN4002-GG M6x20 L5 e | o | 253664
25B-3D40 8] 25 25 150 25 25 40 DGNS3.. 5 ® | O (253314 3232P-425 4 32 32 170 32 32.3 25 e | ® | 253666




Grooving / Cut-off Turning Tool External Cut-off / Grooving turning tool

CGBR 7|
L
GBA43R.. GBA43L.. GBA43R..R.. GBA43L..R.. I |
: (mm) l
(Cutting Speed) : m/min o a
External Grooving ' ]
PCD CBN-K CBN-S ZN60 ZKO01 ZM826 ZP15 ZM856 1T
= (Inserts): A26/B103 (Toolholder Parts): P01-P04 wh R-Type
150-600 60-250 70-250 100-250
150-350 60-150 70-150 80-150
HRC46-58 10-30 20-60 20-60 20-60
M 200-300 50-150 50-150 70-150
K 300-1500 100-300 130-210 | 150-200 | 150-300 CGBR/L 1616H32 0.5-2.5 16 16 | 100 | 22 16 | 20 M3.5%10 15 e | o | 254600
400-800 100-200 100-160 | 100-150 = 150-230 2020K32 0.5-2.5 20 20 | 125 26 20 25 GBA32R/L HL1808 ML6520 125 e | ® (254602
300-1200 300-1200 2525M32 0.5-2.5 25| 251|150 | 26 | 25 | 32 ’ e | o | 254604
i 300-1500 300-1500 CGBR/L 2020K43 12545| 20| 20| 125 | 26 | 20 | 25 | GBA43R/L125-450 e | e (254606
aenean S EEBEm 2020K43-1 | 1.25-1.85| 20 | 20 | 125 | 26 | 20 | 25 | GBAWSRLI25-185| | o0 M5x12 T20 | o | o |254608
so0-o00 sonon 2020K43-2 | 2.0-28 | 20 | 20 | 125 | 26 | 20 | 25 | GBA43R/L200-280 ML0520 L2.5 o | o |254610
. _ S prian o 2020K43-3 | 3.0-4.5 | 20 | 20| 125| 26 | 20 | 25 | GBA43RIL300-450 0 | 0 |254612
Fig.1 Fig.2 H s wozoo | men | 2080 | 2080 CGBRIL 2525M43 | 1.25-45| 25| 25| 150 | 26 | 25 | 32 | GBA43RIL125450 o | o [254614
2525M43-1 | 1.25-1.85| 25 25| 150 | 26 25 32 GBA43R/L125-185 L1808 M5x12 T20 o | o |254616
Cutting Environment @ Stable Cutting @) General Cutting () General Cutting(Second recommend) 3 Unstable Cutting Cutting Environment @) Stable Cutting @@ General Cutting () General Cutting(Second recommend) 3§ Unstable Cutting :g;gmgj gg:ig gg gg 128 gg gg gg gzizigjtiggjzg MLOSZO L25 2 2 ggjggg
P Steel 00 VOZWWE P Steel 00 VOX0WWE
M Stainless Steel O VOHLOO M Stainless Steel O VOHLOO
K Iron ® ¢ 0 %0eO K Iron o © 0 %000
N PP Plastic/Wo [ ] eOOVOVLLO N i PP incy i [ ] 0OOVOLLO
S Carbide/Powder Metallurgy ] ® ) S Carbide/Powder Metallurgy [} ® [}
Titanium/Superalloy/Carbon Fiber ° % M Titanium/Superalloy/Carbon Fiber ° 2 M
§ Dimension N4 © ocow©Wo § Dimension N7 © oo
5 Specification 0zz3580P338 o Specification 022352322338
g Wwoo B | re | A T | ¢d | Fig | © POBENIYLLRR % W0 B | re | A T | ¢d | Fig | © POBENELNLEE CGBSR
GBA43R” 100-010 | 1.00 ° -
120-010 [1.20| 2.0 | 01 o I DI
125-010 [1.25 . . ° -
19520200 125 12.7|4.76| 5.5 |Fig.1| 2 . kN —
140-020 |1.40] 20|02 . GBA43RL 100-R050 | 1.00| 2.0 |0.50 R ols oot ° External Grooving
145-020 |1.45 o
150-010 | 1.50] 35 | 0.1 o o 3 150,RO7S]| 1.50) 3.5 | 0.75 MBMH M IS (Inserts): A26/B103 (Toolholder Parts): PO1-P04
150'020 1'50 35102 . o 3 200-R100 | 2.00| 3.5 [1.00]12.7|4.76| 55 |Fig.2|2° eee eee . : .
- - : : N 250-R125 [2.50| 4.0 | 1.25 cee osee o
170-020 | 1.70 °H M 300-R150 | 3.00| 4.0 |1.50 see oo o
175020 |1.75 =« N° 400-R200 [4.00| 5.0 |2.00 see coe o
180-020 |1.80 35|02 o0 .
185-020 |1.85] © . . . eee °
190-020 |1.90 12.714.76| 5.5 |Fig1) 2 eoe o CGBSRIL 1616H32 M3.5x10 | T15 °
195-020 |1.95 Nl Be 2020K32 0.5-2.5 20| 20| 125 | 26 | 20 | 25 GBA32R/L HL1808 125 o | o 254702
200-010 [2.00[ 35 | 0.1 cee o 2525M32 | 0525 | 25| 25| 150 | 26 | 25 | 32 ML0520 : o | o 254704
200-020 |2.00] 35 | 0.2 e0ccocooe .
50020 1220 Sele Be CGBSRI/L 2020K43 1.25-45| 20| 20| 125 | 26 | 20 | 25 GBA4SRIL125450| HL1808 M5x12 T20 ® | e (254706
225-020 [2.25| 35|02 cee o 2525M43 1.25-45| 25| 25 |150| 26 | 25 | 32 ML0520 L2.5 ® | @ 254708
230-020 |2.30 . . XX .
260:010 [250[ 5.0 (0] 2/ |#76) 55 |Fia1)2 Mol K
250-030 |2.50| 5.0 0.3 XX .
260-030 |2.60| 5.0 ) e0c0cooe .
265-030 |2.65 cee o
270-030 |2.70 ece .
5.0 |03
280-030 |2.80 ) . o o
290.030 | 2.90 12.7|4.76| 5.5 |Fig.1| 2 ‘A K
g 300-010 [3.00| 50 | 0.1 o o —
300-080 [3.00] 50 [ 03 o SGBR _r I
310-030 |3.10 o ° = <
320-030 |3.20 o o o] T ap(mm) I i
325-030 [3.25| 5.0 | 0.3 cee o 4 - - * L
330-030 |3.30 12.7|4.76| 5.5 |Fig.1| 2° oo ° f(mmirev) f(mmirev) 1 i
340-030 [3.40 eooe . —= |
350-010 [3.50] 5.0 | 0.1 cee o I
350-030 |350] 5003 (KX XEXK] . - N
360-030 3.60 ) ° Code Description TA Feed of Grooving T.2 Feedof Transverse Grooving ~ T.3 Depth of Transverse Grooving External Grooving f i
370030 |3.70| . | (4 cee o o
380-030 13.80) ™" | " | 45714 76| 5.5 |Fig.1| 2° 2°2 NN B Cutting Parameter = (Inserts): A26/B103 (Toolholder Parts): P01-P04 R-Type
390-030 [3.90 O © ° 2 . 7 5 5 e =
400-010_|4.00] 5.0 | 01 eee o § | ProcessedMaterial | G5ty $50-200 2102300 5105400 410510
400-040 400150 |04 ®0cccoe L 5] T1, T2 T3(T1 T2 T3[T1/ T2 T3|T1 T2 T3|T1 T2 T3
2;3_828 3;8 : : : : 0.03 . . 0.04  0.04 0.02|0.05 0.05 0.020.05 0.05 0.02|0.05 0.05 0.02
430:040 430|850 |04 ) i E.EH B. P st 008 009 009 03|01 01 05042 01 05012 01 08 SGBR/L 1616H32 0.33-2.5 16 16 | 100 | 22 16 20 e | e 255200
440-040 |4.40 12714761 55 \Fig.1) 2 o o 003 | |004 004 002|005 005 002[0.05 005 002[005 0.05 0.02 2020K32 0.33-2.5 20 20 | 125 | 26 20 25 GBA32R/L M4x10 T15 e | e 255202
igg'glg 328 gg 81 : : M | siainisss steei 0.07 0.08 0.08| 03 009009/ 05|01 01 05|04 01 08 2525M32 0.33-2.5 25 25| 150 | 26 25 32 ® | ® | 255204
460-040 [460] | P PN Ry R . . % 003 | |004 004 002|005 005 002(0.05 005 002005 005 002 SGBRI/L 2020K43 1.25-45| 20| 20| 125 | 26 | 20 | 25 | GBA43RIL125-450 ® | e 255206
470-040 |4.70 56164 . . . 9. . ° Iron 0.08 0.08 008 03|01 01|05[01]01 05]|01]|01 08 2020K43-1 1.25-1.85 20 20 | 125 26 20 25 GBA43R/L125-185 M5x12 T20 o | 0 255208
PO B _ o B o {085 005 005 002|005 005 002(008 008 002 008 008 002 2020K432 | 2.0-28 | 20| 20| 125| 26 | 20 | 25 | GBA43R/L200-260 o | o |255210
500-010 [5.00[ 5.0 |01 =/ |%00] 55 |Fle-1) 20 . ZncPistoond - [012 015 015 05 |0.15 015 08 015 0.15 08 0415 0.15 08 2020K43-3 | 3.0-45 | 20| 20| 125 | 26 | 20 | 25 | GBA43RIL300-450 o | 0 |255212
200000 20050, 04 1 e 5 001 |08 |00 001 001)003 003 0011003 003 001 SGBRIL 2525M43 125-45| 25| 25| 150 | 26 | 25 | 32 | GBA43RIL125-450 o | o 255214
- . 5.0 | 0.4 |127|5.10| 5.5 |Fig.1| 2 Carbide/Powder Metallurgy | 0.3 0.05 0.070.04| 0.1 [0.080.08 0.1 [0.08 0.08 0.1 2525M43-1 1.25-1.85| 25 25 | 150 26 25 32 GBA43R/L125-185 M5x12 T20 o | 0 |255216
. S S — 00T |00z |08 001 00110051003 0011003 0,08 001 2525M43-2 2.0-2.8 25| 25| 150 | 26 | 25 | 32 | GBA43R/L200-280 o | 0 |255218
ICarbon Fiber 0.03 0.05 0.07 0.04 0.1 [0.08 0.08 0.1 |0.08 0.08 0.1 2525M43'3 30_45 25 25 1 50 26 25 32 GBA43R/L300-450 o o 255220




Grooving / Cut-off Turning Tool External / Internal Grooving turning tool

SGBSR MGHR
External Grooving Internal Grooving Processing
°
L
e -z L1 |
= - I -
Y— o
L R-Type
-°| = (Toolholder Parts): PO1-P04
W [« _
L1 R-Type MGHR/L 2020K3315 | 1.25-2.3 20 20 | 125 | 17 20 | 20.2 e | e | 254800
2020K3323 | 2.3-3.3 20 20 | 125 | 17 20 | 20.2 M3.5x10 T15 e | @ |254802
2525M3315 | 1.25-23 | 25| 25| 150 | 17 | 25 |25.2| MOTRI33I25| 1y 4g0g| V' o | @ 254804
= (Inserts): A26/B103 (Toolholder Parts): P01-P04 2525M3323 | 2333 25 25 | 150 | 17 25 | 252 -33470 ML0520 L2.5 o | o [254806
2525M3333 | 3.3-4.7 25 25 | 150 17 25 | 25.2 e | o | 254808
MGHR/L 2020K4315 | 1.25-2.3 20 20 | 125 | 26 20 | 20.2 e | @ |254810
20204323 | 2333 | 20 | 20| 125 | 26 | 20 |20.2| MOTR1LA3125 o | o 254812
SGBSRI/L 1616H32 0.5-2.5 16 16 | 100 | 22 16 20 e | ® | 255222 2020K4333 3.3-4.7 20 20 | 125 | 26 20 | 20.2 M5x12 120 e | o |254814
2020K32 0.5-2.5 20 20 | 125 | 26 20 25 GBA32R/L M4x10 T15 e | @ | 255224 2525M4315 | 1.25-2.3 25 25 | 150 | 26 25 |25.2 HL1808 MLO520 125 e | o |254816
2525M32 0.5-2.5 25 25 | 150 | 26 25 32 e | ® | 255226 2525M4323 | 2.3-3.3 25 25| 150 | 26 25 | 25.2 . e | ® (254818
SGBSRIL2020K43 | 1.25-4.5 | 20 | 20 | 125 | 26 | 20 | 25 | passriizsaso | M5x12 120 o [ o 255228 2525M4333 | 3.3-47 | 25| 25 |150| 26 | 25 |25.2 o | o (254820
2525M43 1.25-45| 25 25 | 150 | 26 25 32 e | ® | 255230 2525M4447 | 4.7-6.3 25 25| 150 | 26 25 | 25.2 | MGTR/L44500-44600 e | ® 254822
S..SGBR GWCR
External Grooving External Grooving
=
_——Ta ° 0° L
/ ' o
H - 2
e -
l R-Type
©
) Q = (Toolholder Parts): P01-P04
.,_‘ o
T L1 (
L GWCRI/L 1010-3 0.33-2.80 e | e | 254906
1212-3 0.33-2.80| 12 12 | 125 | 17 12 12 M3.5%10 T15 e | e | 254908
R-Type 1616-3 0.332.80| 16| 16 |125| 17 | 16 | 16 | TGARIL3033 | ) 1g0g| V> o | o (254910
= (Inserts): A26/B103 (Toolholder Parts): P01-P04 2020-3 033280 20| 201|125 17 | 20 | 20 -3280 ML0520 L2.5 o | o (254912
2525-3 0.33-2.80| 25 25 | 150 | 17 25 25 e | e |254914
GWC R/L 2020-15 1.00-1.45| 20 20 | 125 | 17 20 20 | TGAR/L4125-4145 e | o |254916
2020-25 1.50-2.30| 20 20 | 125 | 17 20 20 | TGAR/L4150-4230 e | e 254918
S16N-SGBR/L16 20 16 1 160 | 30 15 |0.3-3 e | ® 256401 2020-35 2.50-4.80| 20 20 | 125 | 17 20 20 | TGAR/L4250-4480 M5x12 T20 e | e | 254920
S20R-SGBRI/L 32 24 20 | 12.8] 200 | 40 19 |0.3-3| GBA32L/R 32 M4x9 T15 e | & 256400 252515 1.00-1.45| 25 25 | 150 | 17 25 25 | TGAR/L4125-4145] H[.1808 ML0520 125 e | o |254922
S$25S-SGBRI/L 32 29 25 | 15.3| 250 | 40 23 ]0.3-3 e | o 256402 2525-25 1.50-2.30| 25 25| 150 | 17 25 25 | TGAR/L4150-4230 ’ e | e 254924
S32T-SGBR/L 43 40 32 |21.5| 300 | 50 30 |1.5-5| GBA43L/R43 M5x12 T20 o | o |256404 2525-35 2.50-4.80| 25 25| 150 | 17 25 25 | TGAR/L4250-4480 e | o | 254926




Grooving / Cut-off Turning Tool External / Internal Grooving turning tool

KTGFR -1
= N — <
L |
i |
TGF32R.. TGF32L.. TGF32R..R.. TGF32L..R.. — —
- - a
(Cutting Speed) : m/min (mm) External Grooving . 7|
PCD | CBN-K  CBN-S | ZN60 | zKo1 | zm826  zP15  zM8S6 Al
= (Inserts): A25/B107 (Toolholder Parts): PO1-P04 wit R-Type
150-600 60-250 70-250 100-250
150-350 60-150 70-150 80-150
HRC46-58 10-30 20-60 20-60 20-60
M 200,800 50-150 | 50-150 | 70-150 KTGFR/L1010F-16 0.33-2.5 10 10 | 80 |[18.5| 10 12 e | e 255300
K sooee 100500 130-210 | 150-200 | 150-300 1212H-16 0.33-2.5 12 12 | 100 | 18.5| 12 16 e | o | 255302
400-800 100-200 100-1 100-150 150-2
o B P s 1616H-16 | 0.33-25| 16| 16 | 100 | 18.5| 16 | 20 TGF32RIL M4x7 T15 e | o 255304
HB50-70 001500 001500 2020K-16 0.33-2.5 20 20 | 125 | 20 20 25 ® | o 255306
HB70-110 300-800 300-800 2525M-16 0.33-2.5 25 25 | 150 20 25 32 e | @ 255308
300-1000 300-1000 Unbiased Head (Aor Automatic Lathe Back)
s 10-30 10-30 KTGFR/L0808H-16F | 0.33-2.5 8 8 100 | 18.5 8 8 e | e 255310
400-600 400-600 1010K-16F 0.33-2.5 10 10 | 125 [ 18.5| 10 10 TGF32R/L Max7 T1 e | e 255312
- 100-200 100-200 | 20-50 20-50 20-60 1212K-16F 0.33-2.5 12 12 | 125 [ 18.5| 12 12 5 e | o 255314
1212M-16F | 0.33-2.5 12 12 | 150 | 18.5| 12 12 e | e 255316
Cutting Environment @ Stable Cutting @) General Cutting () General Cutting(Second recommend) 4 Unstable Cutting Cutting Environment @ Stable Cutting @) General Cutting () General Cutting(Second recommend) & Unstable Cutting 1616K-16F 0.33-2.5 16 16 | 150 | 18.5| 16 16 e | o 255318
P Steel 00 voxWee P Steel 00 vexwew
M Stainless Steel O OOBVOO M Stainless Steel ©® OVBEOOO
K Iron ® ¥ @ 000 K Iron @ © ¥ X000
N pper i ° WOOVOOO N i inc ° WOOOBOY
S Carbide/Powder Metallurgy [ ] ® L[] S Carbide/Powder Metallurgy [ ] = 9
Titanium/Superalloy/Carbon Fiber ° ® ® Titanium/Superalloy/Carbon Fiber ° 2 o
é) Dimension N0 © ocowo § Dimension N4 © ocow©o
5 Specification 0zz3530R8I8 o Specification 02235392338
9 ommzv¥>Snn00SS o) ~ ommz¥Sn00>SS
5 Ws:o02| B re A T | ¢d | Fig | 6§ ZOONNNNNNNN & Waoo2| B re A T | ¢d | Fig | 6 ROONNNNNNNN
= = KTGFSR e —
= =
TGF32RiL 030-005 |0.30 0.05 ° l j
033-005 |0.33] . L
040-005 [0.40 ) 0 .
045-005 | 0.45|1.25 0.05(9.525|3.18 | 4.5 |Fig.1| 2 . -
050-005 |0.50 . bI QI
050L220 [0.50] 2.2
055-005 |0.55 : TGF32R”L 100-R050 | 1.00| 2.2 | 0.50 oo oo o External Grooving v _v
060-005 |0.60| 122|005 e o 150-R075 | 1.50| 2.2 | 0.75 eee coe o W F <
065-010 [0.65 . g 200-R100 [2.00| 2.7 [ 1.00]9.525/3.18| 4.5 |Fig.2| 2° eee eee e = (Inserts): A25/B107 (Toolholder Parts): P01-P04 PEREN R-Type
070-010 |0.70 4 ° 250-R125 [2.50| 3.0 |1.25 eos see o
075-010 0:75 oo . 300-R150 | 3.00| 3.2 | 1.50 eee oo .
080-010 |0.80|2.05 9.525/3.18| 4.5 |Fig.1| 2° eoe .
085-010 |0.85 0.1 ece .
090-010 |0.90 XX .
095.010 | 0.95 P . KTGFSR/L 1010H16 e | ® 255319
100L330 [1.00| 3.3 eee . 1212H16 0.33-3.0 12 12 | 100 | 18.5| 12 20 e | o 255321
132_818 18? ORJORJORJO hd 1616H16 0.33-3.0 16 16 | 100 | 18.5| 16 24 TGF32R/L M4x7 T15 e | e 255320
- LN ] L]
110010 |1.10 BB . 2020K16 0.33-3.0 20 20 | 125 | 20 20 30 e | e | 255322
115-010 |1.15 see o 2525M16 | 0.33-3.0| 25| 25| 150 | 20 | 25 | 35 ® | e | 255324
120-010 |1.20 oo o
125-010 |1.25] 2.2 ) eee .
130-010 |1.30 0.1 |9.525| 3.18| 4.5 |Fig.1| 2° oo .
135-010 |1.35 eoe .
140-010 [ 1.40 eoe o
145-010 |[1.45 eoe .
150-010 | 1.50 ec0cccoe .
@ 150L380 [1.50] 3.8 XX .
H 155-010 [1.55] 2.4 oo o
b 160-015 | 1.60 LN .
165-015 |165| 2.4 015 cee o [ E
170-015 | 1.70 XX . 4 - - Y
1;2812 ];g 24101 °E 0 f(mmirev) f(miren) S..KTGFR T..KTGFR.. Yoy
180-015 | 180 2.4 1 ces o ¥ 1
185-015 | 1.85 0.15(2:525/3.18| 4.5 Fig.1| 2 eee o Spring Steel ;
j]gg:g:]]g 18? 2.7 : : : : Code Description~ 1°1 Feed of Grooving T2 FeedofTransverse Grooving 13 Depth of Transverse Grooving “_"
200-010 [2.00] 2.7 [ 01 ceecces o — : v g
200-015 _[2.00] 2.7 [0.15 eee o ¢ R PRIy “T
5 i TGF32FRi TGF32Ri TGF32Ri TGF32R1 TGF32%%
g?gl-(‘)‘fso 5(1)8 4.0 0.1 : : : : 5 PrEECEeae) e 033~055 055~095 100~145 150~250 255320 Internal Grooving Processing ‘4#»’ L ‘
215:015 2'15 oG . S T1|T2|T3|T1|T2(T3|T1|T2|T3(T1|T2|T3|T1|T.2| T3 !
220-015 2:20 27 lo1s oMo ° 001/ | 002 | |0.03 003 002003 0.03 0.020.03 003 002 = (Inserts): A25/B107 (Toolholder Parts): PO1-P04 R-Type
225-015 |2.25| ' LXK . P steer 0.05 0.07 0.080.06| 0.2 0.1 009 03 [0.12] 0.1 03
230-015 |2.30 : o XX .
240015 |2.40 9.5253.18 | 4.5 |Fig.1| 2 NG . - » 001 | _|002] | |003 002002003 002 002|003 002 002
250-010 |2.50| 3.0 | 0.1 ecoccee . Stainless Steel 0.04 0.06 0.07 005| 02|01 008 03|01 009 03
250-015 |2.50| 3.0 |0.15 L X . 0.01 0.02 0.030.02 | 0.02|0.03 0.020.02|0.03 | 0.02 | 0.02
250L400 [2.50| 4.0 | 0.1 L] ° K. ooa| | lows| |~ |oos|oos| 02| 01 |00s| 05 |012|009| 03 S16N-KTGFR/L16 0.3-3 ® | e 256410
ggg:g?]g ggg : : : oot | ooz | [003 003 0.02|003]0.03 002|003 003 002 S20R-KTGFR/L16 24 20 | 12.8| 200 | 40 19 ]0.3-3 TGFL/R 32 M4x9 T15 e | o 256412
270-015 |2.70| 3.0 |0.15 eoe . N @1@,‘3;2‘1&&’;32{1”‘“9”“‘“m 0.05 0.07 0.08 0.06 02042 042 03 |045/ 015 03 S25S-KTGFR/L16 29 25 15.3| 250 40 23 10.3-3 ® | & 256414
280-015 |2.80 9.525|3.18| 4.5 |Fig.1| 2° . 001 0.01 0.01 001001002001 001/ 0.02 S32T-KTGFR/L43 40 32 | 21.5/ 300 | 50 30 [1.5-5 TGFL/R 43 M5x12 T20 ® | @ 256416
ggg:g;g ggg : S| caiderpowdermetaiiorgy | 052 | lose | lowsl ~ |~ lows 0os ot loss 058! o1 Spring Steel Shock-Proof Toolholder (Shock-Proof Effect >4 Times Toolholder Diameter)
320-020 [3.20 34102 . ) 001 _ | _|oot| _ | |oo1 001001 /0.02|001 001 0.02 T-S16N-KTGFR/L16 21 16 11 |1 160 | 30 15 10.3-3 e | ® 256420
Carbon Fiber <" 02 002 003~ " |oos 003 01 005 003 01 T-S20Q-KTGFR/L16 25 20 | 12.8/ 180 | 40 | 19 |0.3-3| TGFL/R32 M4x9 T15 o | o 256422
T-S25R-KTGFR/L16 30 25 | 15.3| 200 | 40 23 |0.3-3 o | ® 256426




Grooving / Cut-off Turning Tool External Cut-off / Grooving turning tool

CTGFR _
I = J=|
L
e |
External Grooving ] f i'
wi Cutting Environment @ Stable Cutting @ GeneralCutting 3 Unstable Cutting Cutting Environment @ Stable Cutting @ GeneralCutting 3§ Unstable Cutting
= (Inserts): A25/B107 (Toolholder Parts): P0O1-P04 R-Type B - o PoMe B - S POPG
M Stainless Steel o #®O M Stainless Steel o #®O
Iron o o F Iron o o 2
pp! i inc/Plastic/\ [ ] ") pp i Plastic/W [ ] "]
CTGFR/L1010F-16 0.33-2.5 10 10 80 |18.5] 10 12 e | @ 255100 s Carbide/Powder Metallurgy ° P s Carbide/Powder Metallurgy ° P
1212H-16 0.33-2.5 12 12 | 100 | 18.5| 12 16 Mdx7 T15 e | ® 255102 Titanium/Superalloy/Carbon Fiber ° %@ Titanium/Superalloy/Carbon Fiber ° %@
1616H-16 0.33-2.5 16 16 100 | 18.5| 16 20 TGF32R/L HL1808 e | @ 255104 § Dimension N7 o-am § Dimension N7 o-am
2020K-16 0.33-2.5 20 20 125 20 20 25 ML0520 L2.5 e | ® 255106 § Dimensioning Specification S%%ggﬁg‘u—”ﬁ 5 Dimensioning Specification S%E%Eﬁgff
2525M-16 0.33-25 | 25 25 | 150 | 20 25 32 e | & 255108 5 wlre| Lle|n|o |RESRNRRAN 5 wlre| L] e |n|o ESSRNRRAN
Unbiased Head (for Automatic Lathe Back) —)v‘Hle PENTA24N 050P005 |0.50(0.05 2.0 - . 9\‘/7\/‘e N }
CTGFRIL0808H-16F | 03325 | 8 | 8 | 100 (185 8 | 8 o [ e [255110 e Soopoos |1 00/0.0d 40 - . N A
2 . . ° PENTA24N050J | 0.5(0.05 2.0 - .
1010K-16F | 0.33-2.5 10 10 | 125 |18.5| 10 10 TGE32RIL HL1808 M4x7 T15 e | o 255112 : gggggg lggggg j;g N N H s 2GR0 Toloaolasl - N
1212K-16F | 0.33-2.5 | 12 12 | 125 |18.5| 12 12 ML0520 L2.5 e | @ (255114 5 185P005 |1.850.05 4.0| - | - | - . 5 ;ggj Iejorgeo) - :
2 zheioig SOl iccton I e R0l N ® | ® 255116 : . 230P008 7300009 43| - . ‘ . S 2500 |25[020 60| - .
1616K-16F | 0.33-2.5 16 16 | 150 | 18.5| 16 16 e | e 255118 s ggggggg ggg ggg 3-2 - : ~l—l= 3004 1301020 6.0 - °
Grinding groove (finishing) 300P005 |3.00/0.05( 4.5| - . With chip breaker (roughing)
CTGFSR T 71 PCHR Tmax L
b - S\ LHI
] ] - !
External Grooving W"-(* L, . ‘ External Grooving SI WI
= (Inserts): A25/B107 (Toolholder Parts): P01-P04 R-Type = (Inserts): A37/B110 (Toolholder Parts): PO1-P04 o R-Type

CTGFSR/L1616H-16 | 0.33-2.5 | 16 16 | 100 | 18.5| 16 | 20 e | e 255120 PCHR/L 16-24 16 16 100 26 16.6

Mdx7 T15 e | @ (255500
2020K-16 | 0.33-2.5 | 20 20 | 125 | 20 20 25 TGF32R/L HL1808 ML0520 12,5 e | e 255122 16-20 20 20 125 26 20.6 PENTA24N239J01 M4.5%10 T20 e | @ (255502
2525M-16 | 0.33-2.5 | 25 25 | 150 | 20 25 32 i e | @ |255124 16-25 25 25 150 26 25.5 e | o 255504

GTTR v S

o | Eﬁ 'OI Cutting Environment @ StableCutting @@ General Cutting  $ Unstable Cutting
_v P Steel 00 0% e
T L ‘ M Stainless Steel o ®0O
0"( ‘ Iron o o ®
ﬁ Pp! Plastic/W ] o

External Grooving ~—I ‘:I S Carbide/Powder Metallurgy ° £
- Titanium/Superalloy/Carbon Fiber [ ) 20

= (Toolholder Parts): P01-P04 R-Type z Dimension | x&
= hzz'ggﬁﬁgg
%’ Dimensioning Specification Wi re| T|B|H|B 8885583&&

GTTR/L 08F00 0.33-3.0| 8 8 80 3 8 8 255400 ;1
10F00 0.33-30| 10 | 10 | 80 | 3 | 10 | 10 o | (255402 ETTT |rvereomioo  |10]ood . .
12F00 0.33-3.0| 12 12 | 100 3 12 12 e | @ 255404 1l ;gg Dt PP IO D H B
16F00 0.33-3.0| 16 | 16 [100| 3 | 16 | 16 | CTM:32R/L. M4x10 s e | o |255406 H e P R .o
20F00 03330| 20 | 20 |120| 3 | 20 | 20 e | o (255408 W 1k
25F00 0.33-3.0| 25 | 25 | 150 | 3 | 25 | 25 ® | ® [255410 5 e

Machining of outer circular groove End face grooving
JSTGR _
E[ . — ‘l SFVCR = I
L | :,
L1 \
External Grooving i —l h DI
Wi )

= (Toolholder Parts): PO1-P04 R-Type External Grooving Fpew L r

= (Inserts): B110 (Toolholder Parts): P01-P04 R-Type

JSTGR/L 1010K3 0.33-3.0 | 10 10 | 125 | 18.5| 10 10 e | o | 255326

1212K3 0.33-3.0 | 12 12 | 125 | 18.5| 12 12 JTGR/L3 M4x7 T15 ® | e | 255328 SFVCR/L 2020K16 20 20 125 20 25 e | e 255600

1616K3 | 0.33-3.0 | 16 | 16 | 125 |18.5] 16 | 16 o | o 255330 p— 25 | 150 | 25 32 Fvcieod.. M4x10 15 o | o 255602




Internal Grooving Tool Internal Grooving turning tool

>
§ Dimension X0 O™ 3 Dimension X 5392
5 Dimensioning Product Image Specification 0zz358822 5 Dimensioning Product Image Specification nzz85dQLL
3 ommzxooaa 2 ommzx¥oona
S Wire | BlA|L|[ZdROONNNNNN S Wire | B|A|L|2dROONNNNNN
GER 150-075DR | 1.5(0.75 32 ] o GEL 150-075DR | 1.5(0.75 32 o LI
) 200-100DR [20| 1022 A f o ee o 200-100DR |20|10| %%l | o e
250-125DR |25 |1.25[ : . oo © 250-125DR | 255 [1.25[ 177 [P . o
Cutting Environment @ stable Cutting @ GeneralCutting 3 Unstable Cutting Cutting Environment @ Stable Cutting @ General Cutting 3 Unstable Cutting 3 300-150DR |30 15| o M- H 300-150DR | 30|15 o Mo
P Steel 00 XOxe P Steel 00 20%@
M Stainless Steel o 8O M Stainless Steel o #$O
K Iron o o % K Iron o o %
N opper Plastic/Wo ° o N PP o0d ° o GER 100-E 1.0(005|25 . .o GEL 100-E 1.0 0.05| 255 . o
5 Carbide/Powder Metallurgy ° 2@ 3 Carbide/Powder Metallurgy ° %@ ]57;8:5 1 ? w0 : : : Egzg 13 . : : :
- Titanium/Superalloy/Carbon Fiber ° %@ - Titanium/Superalloy/Carbon Fiber ° %@ 185-E 1.85) ¢4 . oo 185-E 185 0 1 o o8
> > 195-E 1950 || . oo 195-E 195 || . .
] Dimension X0 O™ 3 Dimension x.".’o 85“” 200-E 20 . L 200-E 20 . LI
5 Dimensioning Product Image | Specification Nzz35Q422 5 Dimensioning Product Image | Specification Nzz3Sdae A 225-E 225 |32 ] oo A 225-E 225 |32 . L]
£l oomMZzxoooo 2 ommzZzxoooo 230-E 23 . ) 230-E 23 . 0y
S Wire | BlA|L|ZdROONNNNNN S Wi re | Bl A|L|2dROONNNNNN 250.E 25 — . NS 250.-E 25 — . M5
7 24 275-E 275 o e ol |75 275E 275 o e
GER 050-A 05 . .o GEL 050-A 05 . o | 280 e 45954(217] 44 . e o | S s 45954[217 44 . N
060-A 06 . .o A 060-A 06 D E 300-E 30 . ee 300-E 30 . .
070-A 0.7 2 . o 070-A 07 12 . @ 330-E 33| 0| . o a 330-E 33| 0o I . .o
080-A 0.8(0.05] . . 080-A 0810.05 . L[ ]=1 350-E 35| . . T=[ 11 350-E 35 . .
9 100-A 10 . ee o l 100-A 1.0 . @/;‘7":,9 ‘ 400-E 40 55 . o Jie re”] LDE 400-E 40 55 . .o
< 120-A 12 6.69|6.5|25 . o 2 - 120-A 12 6.69|6.5|25 . W0.03 g‘ 430-E 43 [ . o '5.55 W£0.03 430-E 43 [ . .o
@ 125-A 125 | . ee 2 = 125-A 125 | . - i 450-E 45 . .o 450-E 45 . .o
140-A 14 15 ] oo Y 140-A 14 15 . 460-E 46 65 . oo 460-E 46 65 . o
150-A 15 © 44 © Jf re *)‘—LE 150-A 15004 . 500-E 50 . oo 500-E 50 . o
180-A 18] 07 o e 258 W0.025 180-A 18 D e e o e
200-A 20 o e 200-A 20 D
GER 250-125ER | 25125 ] L] GEL 250-125ER | 2.5 [1.25 . LI
300-150ER | 3.0|1555 . L 300-150ER | 3.0| 15|55 . oo
o GER 100-050AR | 1.0|05 O e o GEL 100-050AR | 1.0|05 o 40 g 350-175ER 3511750 1o syloq 7 44 = M C g 350-175ER | 3511750 1o cylog 744 0 ‘B
150-075AR | 15(0.75] 15(669] 65|25 . LICT 150-075AR | 1.5(0.75| 1.5 (6.69| 6.5 | 2.5 . . 400-200ER | 4.0 |20 . ‘M 400-200ER | 40|20 . .
2800 |30/ 1B 2o o 31 1N “’ e e 1E Ln HEl 1
GER 080-B 08| |18 . .o GEL ?gg-g 08| |18] . .o
100-B 10 . .o - 1.0 D . A -
mE ol el ol e
¢ ¢ m - I z o J C m B
130-B Elnm o ee 130-B Flmm o ee 7 A [ ) ]| CER 900M0ED | 101002 S BN 2 GER150DMI0R075-D| 15 [0.75 2.5 o e
9 145-B 1.45 . ee 2 145-B 1.45 D . 7 ’ 200DM10.D | 20 01|35 . ee # 200DM10R100-D( 2.0 1.0 | 35| |l . o
150-B 15| 01|22 846 82|27 . ee ¢ 150-B 15| 0.1| 22 [846| 82|27 . 3 250DM15.D |25 |02 |45 |68(16434 . A 2 250DM15R125-D| 2.5 |1.25| 4.5 | |17 & . o
3 180-B 1.8 . oo = ] 180-B 18 . = ool oo | ozl as . e A 300DM15R150-D| 3.0 | 1.5 | 4.5 . oo
200-8 20 Ol N° N 200-B 20 0 H & § ol H 400DM15R200-D| 4.0 | 2.0 | 4.5
2258 225 e e e’ 2258 2.25 . S || 400DM15-D |40 02|45 e e
250-B 25 .o — 250-B 25 .
280-B 28005 . o 3.18 W0.025 2808 280 55] : W0.03 505
300-B 30 . .o 300-B 30 .
GER 100-050BR | 1005 . .o GEL 100-050BR | 1005 o o
[ 150-075BR | 15(0.75 C M4 © 2 160-075BR | 1.5(0.75 O 4
200-100BR | 20|10 |22 (8.46(82|27 . LI | 200-100BR | 20| 10|22 (846 82|27 . o
2 250-125BR | 25125 O oo 2 250-125BR | 2.5 [1.25 o 4° SIGER T..SIGER.. \
300-150BR | 3.0 15 o M4 © 300-150BR | 3.0|15 o b4 © )1 5° I -
3.18 W +0.025
b -
O N
GER 100-C 1.0 {0.05] . ) GEL 100-C 1.0{0.05 . o i!
120-C 12 . .o 120-C 12 . .o #Dmin
125-C 125 o« e 125.C 125 | o e 4 " .
140-C 14 o e 140-C 14 o ee . ; o ad
A 145.C o . M- A 145.C o . M Internal Grooving Processing Spring Steel W*+JL1
150-C 15 . .o 150-C 15 . . L
160-C 16 o .o e 160-C 16 . w !
o |7 2 1205 7)ot °N M7 = d 705 7)ol ol M = (Inserts): A47-A48/B111-B112 (Toolholder Parts): P01-P04 R-Type
H | 185-C 1.85) 25| 58115/ 258 . o H | 185-C 1.85] oslssliis o . o
195-C 195 . oo = 195-C 1.95 . .o
i me | 15 O me  |s 1K Order
& D | | 250-C 25| o e | e e 250-C 25| o e umber
W+0.03 4.05 275-C 275 . o 4.05 W0.03 275-C 2.75] . .
280-8 2802 O M° ggg-g gg 02 O SIGE R/L 0606A-EH 6 1.5 6 3.8 | 20 100 | 4.5 e | o 257601
300- 30 . .o - . %
s0C |2 N Mo 200 |2 S B 080BAEH | 8 | 15| 8 | 48| 20 | 100 | 7.2 | CERLAAR M2.0x4.5 T6 e | & 257600
3s0-C ° o 0K 0 ” R N° 1010BEH | 10 | 22 | 10 | 6.2 25 [ 125 | 9 GERIL BJBR V2 24 7 o | o 257602
1210B-EH 12 2.2 10 7 30 125 9 v ’ e | o 257604
SIGE R/L 1412C-EH 14 25 12 8 88 150 | 11.4 e | o 257606
GER 100-050CR | 1.0|05 ] oo GEL 100-050CR | 1.0|05 .
° 150-075CR | 1.5|0.75 . oo o 150-075CR | 1.5(0.75 . 1612C-EH 16 25 12 8.5 20 150 11.4 | GER/L..C/CR/DM M2.5x%6 T8 e | @ 257608
200-100CR | 20| 1.0|25|58(11528 . DI 200-100CR | 20| 10| 255811528 . 1616C-EH 16 25 16 9 36 160 15 e | @ 257610
2 250-125CR | 2.5 |1.25] . o H 250-125CR | 2.5(1.25 .
300-150CR | 30|15 o e 300-150CR | 3015 o e SIGE R/L 2020D-EH 20 4.5 20 | 12.1] 40 180 19 | GER/L..D/DR/DM M3.0x8 T10 e | @ 257612
SIGE R/L 2525E-EH 25 6.5 25 15.6| 45 200 24 e | & 257614
vioe 3232EEH | 32 | 65 | 32| 19 | 55 | 220 | 30.4 | GER/L..E/ER/DM M4.0x8 T15 o | e (257616
GER 100-D 0 . B GEL 100-D 10 . N 4032E-EH 40 6.5 32 23 45 250 | 30.4 ® | e 257618
Eg'g 11225 005, Ol N° gg'g 11225005225 B N Spring Steel Shock-Proof Toolholder (Shock-Proof Effect >4 Times Toolholder Diameter)
- . .o 1
140-D 14| . .o 140-D 14l . o T-SIGE R/L 0808A-EH 8 1.5 8 4.8 | 20 100 7.2 GERJ/L..A/AR M2.0x4.5 T6 e | @ 257630
X b P o0 HS . b e B o B 1010B-EH| 10 | 22 | 10| 6.2] 25 [ 125 ] 9 o | o 257632
gg'g 1.7 30 ° MC }Zg'g 11575 FREN ° ° 1210B-EH | 12 2.2 10 7 30 125 9 GER/L..B/BR M2.2x4 T7 e | o 257634
- 1.85/ 0.1 . .o 4 . . s
7 195-D 1.95 o e o 1153 195-D 195, o e 1212B-EH | 12 2.2 12 7 30 150 | 11.4 ® | o 257636
o 2 @d [— o id 2 200-D I . -
g - . oo -
e pra S e I I L coil ¥ prra S o I I R R 1K TSIGERIL 1412CEH | 14 | 25 | 12 | 8 | 33 | 150 | 11.4 o [ o |257638
: Bl §§8'B gg 56 : N To ggg'g gg 56 . K 1612C-EH | 16 25 12 8.5 | 20 150 | 11.4 | GER/L..C/CR/DM M2.5%6 T8 e | o 257640
x‘?‘ ‘\isj | 275-D o7s) || . . | ,f/‘ ﬁs 275-D o7 | . 1616C-EH | 16 2.5 16 9 36 160 15 e | ® 257642
iots eon 280-D 28 . .o T Weoos 280-D 28 .
W£0.03 5.05 o 30, . M- 5.05 W£0.03 oot 50| o . . T-SIGE R/L 2020D-EH 20 4.5 20 12.1| 40 180 19 GERI/L..D/DR/DM M3.0x8 T10 e | @ 257644
ggg'g 25 45 . M ggg'g gi 45 . P 2525D-EH | 25 4.5 25 15.6| 45 200 24 e | o (257646
350-D 35 o e 350-D 35 o e T-SIGE R/IL 2520E-EH | 25 6.5 20 16 40 180 19 GERIL..E/ER/DM M4.0x8 T15 ® | @ 257648
400D o AN 4000 e ‘AN 2525EEH| 25 | 65 | 25| 16| 45 | 200 | 24 B ' e | & |257650




End Face / Internal Grooving

End Face / Internal Grooving Tool

End Face Grooving Turning System
SNMF. ZR
220~025 @40~050
SGIEFR SGIVFR T-SGIVFR
Cutting Environment @ Stable Cutting @ General Cutting 3 Unstable Cutting Cutting Environment @ Stable Cutting @ General Cutting 3 Unstable Cutting
P Steel 00 z0x© P Steel 00 z0xW
M Stainless Steel (o) ®O M Stainless Steel (o) BO e s |
K Iron o o ® K Iron e o %
3 ve.. ve.. MGMN..
N PP asticiboed o N PP asicitoed L4 L4 ©20~025 216~025 210~025 216~040
S Carbide/Powder Metallurgy %@ S Carbide/Powder Metallurgy 2O R
- Titanium/Superalloy/Carbon Fiber ° %@ - Titanium/Superalloy/Carbon Fiber ° %@
e .
5 Dimension X0 oO—oNm 3 Dimension X0 ) B129 B121
5 Dimensioning | ProductImage | Specification 0zz358RL2Le = Dimensioning | Product Image | Specification nzz354QLL
o ommzyooon 2 ommz¥0ooon
s W[ B|A|L|H|2d@OONNNNNN & WI[B|A|L|H|odEOONNNNNN
A MGMN.. MFMN..
—|—|<W0.03 6GR 100 1.0(15 oo . 6GL 100 1.0(15 oo . 220~@25 220~825
150 15|15 |5.56(6.44|2.34| 2.3 .. 150 15| 1.5(5.56(6.44/2.34| 2.3 .o End Face Grooving
° 200 20(15 o ° 200 20|15 .o
é 7GR 100 1.0(15 L4 . é 7GL 100 10(15 . ]
150 1.5 | 1.5 |5.56(7.36|3.08(2.58] .o . 150 1.5 | 1.5 |5.56(7.36|3.08(2.58| .o .
200 20|15 o . 200 20|15 o . B130 Bi21
8GR 100 10(15 . ] 8GL 100 10(15 oo ]
150 15|20 .o . 150 15|20 .o . MGMN.Z MEMN:
200 20120 556/10.2|3.87|2.58] MB K 200 20120 556/10.23.87|2.58] M°E K . oromos oeomen
250 25|20 o . 250 25|20 .. . Craface Groonng
300 30(20 o . 300 30(20 o .
350 35(20 o . 350 35(20 o . MGHH..R MGFHRL FGHH..R QF..L SEGEL SMFL
= 9GR 100 10(15 o . A 9GL 100 10(15 oo . B127 B122 B119 B123 B116 AB29
«ﬁ 150 15(20 .o . 150 15(20 o . C
200 2030 . . 200 2030 . . N R N
o 2d 250 25|30 |6:35|13.0/466/2:86 B . o 2d 250 25|30 |6:35|13.0[4.66/2:86 M5 . :@B C
- 300 30(30 .o . — 300 30(30 .o . -
a 350 35|30 . ] a 350 35|30 N4 © . MGMN MFMN.. FMM Z. GER. GER.
=T Tl ] ©20~325 220~025 ©20~525 ©20~025 10~232 26~210
A 15GR 100 10(15 15GL 100 10(15 End Face Grooving
Rﬂﬁ‘i ROZALL 150 15(20 ‘ieRoii‘&M 150 15(20
W0.03 200 20|30 W0.03 200 20|30
250 25|30 250 25|30 MGHH..L MGFHLR FGHH..L QF.R SSACN SSACN
300 30(3.0(9.2(208|5.1|438 300 30(3.0(9.2(208|5.1|438
350 S5l50 350 S5l50 B128 B122 B119 B123 B117
400 40|40 400 40|40
450 45|40 450 45|40
500 5050 500 50|50
MGMN MFMN.. FMM z. sc sc
©20~525 220~025 ©20~025 ©20~025 ©20~025 ©20~025
End Face Grooving
MGFV..R MGFVR FGVH..R
B125 B122 B120
- MGMN. MFMN.. FMM.
©20~025 ©20~025 ©20~025
SNGR T..SNGR.. i End Face Grooving
115 - m
H ﬁ B126 B122 B120
poA= NS [N
@Dmin '
Internal Grooving Processing Spring Steel Wi{jLT;“ax X gd MGMN. MEMN.. FMM.
BN L ©20~025 ©20~225 ©20~025
I | End Face Grooving
= (Inserts): A49/B113 (Toolholder Parts): P0O1-P04 R-Type
MGIVR T-MGIVR KIGMR TTIR
Order B89 B89 B93 B92
Number |
SNGR/L  0806J06 10 2 8 4.7 15 100 7 6GR/L M2.2x4 T7 e | e | 257500
Lol 10 2 8 .8 15 100 7 7GR/L ® | & 257502 IDNWI[;MZ’\:O GNWI‘:M;:D Q?BMZ@ @1?@40
10K07 12 2 10 6.8 15 125 8 e | o | 257504 Boring
10K08 14 SIS 10 7.6 20 125 8 e | e | 257506 C-QE..R S-SGBR SIGER T-SIGER
8GR/L M2.5x6 T8
12M08 16 3.5 12 8.6 20 150 11 e | o 257508 B96 B105 B112 B112
16Q09 20 315 16 | 11.6 | 20 180 | 14.8 9GRIL e | o 257510
20R09 25 3.5 20 | 13.6| 20 | 200 | 18.4 e | e |257512
Spring Steel Shock-Proof Toolholder (Shock-Proof Effect >4 Times Toolholder Diameter) z GBA GER GER
T-SNGR/L 0806J06 10 2 8 4.7 15 100 7 6GR/L M2.2x4 T7 e | o 257520 020-040 016052 96-052 96-052
08J07 10 | 2 8 | 58| 15 | 100 | 7 GRIL o [ e [257522 SNGR T
10K07 12 | 2 10 | 6.8 | 15 | 125 | 8 o | o | 257524 113 5113 5108 5108
10K08 14 3.5 10 7.6 20 125 8 e | o 257526
12M08 16 8IS 12 8.6 20 150 11 8GR/L M2.5x6 T8 e | e 257528
16N08 20 3.5 16 11.6 | 20 160 | 14.8 ’ e | o (257530
GR GR TGF TGF
12M09 16 3.5 12 8.6 20 150 1 e | e | D57532 ©6~020 @6~220 216~032 216~025
16N09 20 3.5 16 | 11.6| 20 160 | 14.8 9GR/L e | e 357534
20Q09 25 8IS 20 | 13.6] 20 180 | 18.4 ® | e 357536




End Face / Internal Grooving

End Face / Internal Grooving Tool

SBWR Internal Hole Grooving
o
I[N ) ®
~ <R
I — R
— T, | H - w
(Unit) : mm

¢ Processing Diameter  Order No.
‘SBWR05100R005-D4 0.5 10 10 0.05 3.8 D4 50 37 o 4mm 207241
SBWROB100R005-D4 | 08 | 1.0 | 10 | 005 | 38 | D4 | 50 | 37 | © 4mm 207242
SBWR10100R005-D4 | 1.0 | 15 | 10 [ 005 | 38 | D4 | 50 | 37 | O 4mm 207243
SBWR15100R005-D4 | 15 | 15 | 10 | 005 |38 | D4 | 50 |37 | © 4mm 207244
SBWR10100R010-D5 1.0 15 10 0.1 48 D5 50 4.7 o 5mm 207245
SBWR12100R010-D5 | 1.2 | 15 | 10 | 04 | 48 | D5 | 50 | 47 | © 5mm 207246
SBWR15100R010-05 [ 15 | 20 | 10 | 01 |48 | D5 | 50 | 47 | O 5mm 207247
SBWR20100R010-D5 | 20 | 20 | 10 | 01 | 48 | D5 | 50 | 47 | O 5mm 207248
SBWR10120R015:D6 | 1.0 | 20 | 12 [045 [ 58 | D6 | 50 | 57 | O 6mm 207249
SBWR15120R015-D6 | 15 | 20 | 12 | 045 | 58 | D6 | 50 | 57 | O 6mm 207250
SBWR20120R015-D6 | 20 | 20 | 12 | 015 | 58 | D6 | 50 | 57 | O 6mm 207251
SBWR25160R015-D6 25 25 16 0.15 58 D6 50 57 o 6mm 207252
SBWR15160R015-D8 | 15 | 20 | 16 [ 045 78 | D8 | 50 | 77 | O 8mm 207253
SBWR20160R015-D8 | 20 | 30 | 16 |015 | 78 | D8 | 50 | 77 | O 8mm 207254
SBWR25160R015-D8 [ 25 | 30 | 16 | 045 | 78 | D8 | 50 | 77 | O 8mm 207255

SBKR Inner Hole Round-Head Grooving
o
N
F
l s L1
R/ L2 H

(Unit) : mm

Model Stock  Processing Diameter  Order No
‘SBKR40100R050-D4 38 10 10 05 D4 50 37 o 4mm 207261
SBKR40100R075-D4 38 1.0 10 | 0.75 D4 50 37 o 4mm 207262
'SBKR60150R050-D6 58 15 15 05 D6 50 57 o 6mm 207263
SBKR60150R075-D6 58 15 15 | 0.75 D6 50 57 o 6mm 207264
SBKR60150R100-D6 58 15 15 10 D6 50 5.7 o 6mm 207265

SBCR 90°

T

Boring + Chamfering 45°

o

(Unit) : mm

Model Stk | Order No
SBCR30100R020-D4 28 10 05 02 D4 50 37 o 207321
SBCR40150R020-D4 37 15 0.8 02 D4 50 37 o 207322
SBCR50150R020-D5 47 15 12 02 D5 50 47 o 207323
SBCR60150R020-D6 57 15 15 02 D6 50 57 [e) 207324

SBDR Boring + Chamfering + Grooving

o
%,égs
I
/] L1
R L2
—3e
44°
|
S
w
(Unit) : mm
Model W Stack  Processing Diameter Order No
SBDR40100R020-D4 | 38 | 100 | 08 | 02 | D4 | 50 | 37 | 15 [ O 4mm 207331
SBDR50150R020-D5 | 48 | 150 | 12 | 02 | D5 | 50 [ 47 | 15 | O smm 207332

SBDR60150R020-D6 | 58 | 150 | 1.4 02 D6 50 57 15 o 6mm 207333

SMFR Right End Face Grooving
L2 o
]
/
L1
R T |

(Unit) : mm

Stock | Processing Diameter  Order No

SMFR60150W0.75-D6 | 2.95 15 15 0.75 0.1 D6 50 57 o 8.0 207271
SMFR60150W1.0-D6 [ 295 | 15 | 20 | 10 | o1 | b6 | 50 | 57 | © 80 207272
SMFR80200W20-08 [ 395 | 20 | 40 | 20 | 02 | b8 | 50 | 77 | © 100 207273
SMFR80200W25-08 [ 395 | 20 | 50 | 25 | 02 | be | 50 | 77 | © 100 207274
SMFR80200w3.0-08 | 395 | 20 | 60 | 50 |02 | s | 50 | 77 | o 100 207275
SMFL Left End Face Grooving

L1

\ o
\}
L2 H
I 1
(Unit) : mm
Ho o .

Model Stock | Processing Diameter  Order No.
SMFL60150W0.75-D6 | 2.95 15 15 0.75 0.1 D6 50 57 o 8.0 207281
sMFLe0tsow1.0-Ds | 295 | 15 | 20 | 10 | o1 | e | 50 |57 | o 80 207282
SMFLB0200w2.0-08 | 395 | 20 | 40 | 20 |02 | b8 | 50 | 77 | © 80 207283
sMFLeo200w25:08 | 395 | 20 | 50 | 25 |02 | e | 50 | 77 | o 100 207284
SMFL80200W3.0-D8 3.95 20 6.0 3.0 0.2 D8 50 77 o 10.0 207285

SMVR

Deepen End Face Grooving

L2

(Unit) : mm

Model Stock  Processing Diameter  Order No
SMVR10150W2.0-D10 15 20 0.2 D10 50 9 o 15 207291
SMVR10150W3.0-D10 15 | 30 | 02 | Do | 50 9 o 15 207292
SMVR10150W4.0-D10 15 | 40 | 02 | Do | s0 9 o 15 207293

SBXR Back Boring Cutter

0

_“
=1
)|

I

F

|
T/

Py

L2

(Unit) : mm

Model Stock Processing Diameter  Order No.
SBXR40100R010-D4 38 15 | 1.0 10 0.1 D4 50 37 e} 4mm 207335
SBXR50150R015-D5 48 | 20 | 15 15 | 015 | D5 50 | 47 o Smm 207336
SBXR60200R020-D6 58 |20 [ 20 | 20 | 02| D6 |5 |57 ]O0 6mm 207337

Cutting Environment

@ Stable Cutting @ General Cutting 3 Unstable Cutting Cutting Environment

@ Stable Cutting

@ GeneralCutting 3 Unstable Cutting

P Steel L X I XY P Steel L E XY
M Stainless Steel (e} ®O M Stainless Steel [e] 20O
K Iron e o £ K Iron o o £
N pp Plastic/Wood ) N opper ® ©
S Carbide/Powder Metallurgy Y 20 S Carbide/Powder Metallurgy ) 20
- Titanium/Superalloy/Carbon Fiber ° %@ - Titanium/Superalloy/Carbon Fiber ° %@
> >
) Dimension X ov-am g Dimension o o N®
5 Dimensioning Product Image Specification hzzgggg."_’f 5 Dimensioning Product Image Specification nzzSSﬁﬁﬁ“'_’
2 ommzv¥ooon 2 ommzxoOooo
] Wire| B|A|L|[2d@OONNNNNN & Wlre | B|A|L|2dEOONNNNNN
A
S @Dmin A
B ) GER 100DM06-D | 101005 25 . oo 2Dmax (oo GER 150DM10-E | 15|01 |36 .
H 7 24 150DM10-D | 15| 0.1 28 e ee T - 24 200DM10-E |20 01|48 .
¥ 200DM10-D {20 01] 35| ol ol . ee o 250DM15-E | 25|02 |60 .
2 ) 250DM15-D | 2.5[02[45] 7" |77 . LICIE - 300DM15-E | 3.0 |02 |659.5421.7| 4.4 .
L[ ]=] 300DM15-D | 300245 o e ¢ =] 400DM15-E |40]02 |65 .
“ s‘«/"_‘\rz L 400DM15-D |4.0]02 |45 . L 2 450DM15-E [45|0.2|65 .
Sl — “ &N
W£0.03 5.05 ‘—‘e’ea 500DM15-E |50(02 |65 .
W+0.03 5.5
@Dmin 2Dmin
(©M. mm) oDmax (M. mm)
£ GER150DM10R075-D| 1.5 |0.75| 2.5 . oo T GER150DM10R075-E | 1.5 |0.75( 3.6 : : :
5 P ODIToRIooD| 20 | 1.0 | 35 . N 200DM10R100-E| 2.0{ 1.0 | 4.8
: 250DM15R125-D| 2.5 |1.25| 45| 08 |164 34 o ee 250DMISR125-8| 2.51.25/ 6.019 51 7/ 4.4 N M°
@ -D| 2. °
H H 300DM15R150-E | 3.0 | 1.5| 6.5 . .
g 300DM15R150-D| 3.0 | 15| 4.5 . LI . o
2 400DM15R200-D| 40| 20 | 4.5 E 400DM15R200-E| 4.0{ 2.0 | 6.5
) - 500DM15R250-E | 5.0 | 2.5 | 6.5 . .
W0.03
SEGEL o i
7
H SIGEL2020-D h
R P2
)
f b
Machining of End Face Grooving Workpiece Rotation Direction r
L
= (Inserts): A48/B116 (Toolholder Parts): P01-P04 R-Type
Order
Number

SEGEL 1010H-D . o | @ |257651

1212H-D 6.0 12 12 12 12 100 o | ® |257652

1616K-D 6.0 16 16 16 16 125 GER..D M3x10 T10 o | @ |257653

2020K-D 6.0 20 20 20 20 125 o | @ |257654

2525M-D 6.0 25 25 25 25 150 o | @ |257655
SEGEL 1616H-E 10.0 16 16 16 16 100 o | e |257657

2020K-E 10.0 20 20 20 20 125 o | @ |257658

2525M-E 100 25 | 25 | 25 | 25 | 150 GER..E Max10 15 o | e 257659

3232M-E 10.0 32 32 32 32 150 o | @ |257660
> > .
3 Dimension N3 o-am o Dimension N4 O Nm
5 Dimensioning Product Image Specification ﬁZ‘Z‘%S”N’ﬁEﬁ 5 Dimensioning Product Image Specification ﬁZ‘Z‘SSﬁQﬁe
) ommzxoooo 2 onmzxoooa
g Wire| B|A|L[2d@aOONNNNNN 5 Wlre | B|A|L|2dEOONNNRNNN

n A @Dmin A
20max Lo GEL 150DM10-E | 150136 e e gDmax (OM..mm)
g 15 200DM10-E | 2001|438 . oo T ) GEL 150DM10R075-E | 1.5 (0.75] 3.6 . .
B 24 2 250DMA5-E | 25|02 |60 ol HolE 200DM10R100-E| 20| 1.0 | 48 . .
) - 300DM15-E |30]02|65(054[217| 44 . ee H  250DM1SR125.E| 25125/ 6010l o, . .
|6 =R e oo oo Do o 1K
. JfL"ﬂf\:@ égggmgiﬁ s0|0a|es N Holk 47‘& = 500DMI5R250-E| 50| 25 | 65 o e
5.5 W0.03 5.5 W+0.03

SGIEFR

Machining of End Face Grooving o

==

(Inserts): A48/B116

SGIEFR 0020K-E
0025M-E

flnner Hole  Workpiece Rotation Direction

(Toolholder Parts): P01-P04




End Face Grooving Tool End Face Grooving Tool

STFPR _ MFHR o
d . AN
- - . AN
— Workpiece - ‘4#,‘ od L
| Tmax Rotation Direction !

902 =

I _t
External Grooving Workpiece Rotation Direction | L | Machining of End Face Grooving of Inner Hole r
= (Inserts): A21-A22 (Toolholder Parts): P01-P04 R-Type = (Inserts): A35-A36/B87/B124 (Toolholder Parts): P01-P04 R-Type

TPAO920R/L 33-20/80 e | e 255610 MFH216R/L 06-20/140 6 16 . Max10 L3 e | ® | 255660
08-20/140 8 16 8.3 160 14.8 20 140 e | e | 255661
35-40/160| 20 20 125 40 160 85) 21 e | e 255611 MGMN260=
MFH220R/L 06-25/140 6 20 10.3 180 18.4 26 140 e | o | 255662
37-70/800| 20 20 125 70 800 37 21 TP. 0902 M2 5x6 Ts e | o 255612 08-25/140 8 20 M5x12 MGGN200..
. . . - 10.3 180 18.4 26 140 ® | e | 255663
TPA0925R/L 33-20/80 25 25 150 20 80 83 26 e | ® (255613 L4 MRMN200..
35.40/160| 25 25 150 40 160 35 26 o | o 255614 MFH225R/L 06-25/140 6 25 12.8 200 23.4 28 140 M5%16 e | e | 255664
37.70/800] 25 25 150 70 800 37 26 o | o |255615 08-25/140 8 25 12.8 200 23.4 28 140 ® | e | 255665
TPAT120RIL 33-20/80 20 20 125 20 80 33 21 o | o 1255616 MFH316R/L 06-20/140 6 16 8.3 160 14.8 20 140 M4x10 L3 ® | & | 255666
38401160 20 20 125 40 160 38 21 o | o 255617 08-20/140 8 16 8.3 160 14.8 20 140 ® | e | 255667
40-70/800] 20 20 125 70 800 40 21 103 e o o | o 255618 MFH320R/L 06-25/140 6 20 10.3 180 18.4 26 140 ® | e | 255668
TPA1125RIL 33-20/80 o5 25 150 20 80 33 26 . . o | o [255619 08-25/140 8 20 10.3 180 18.4 26 140 M5x12 MGMN300.. ® | e | 255669
3840/160] 25 | 25 | 150 | 40 | 160 | 38 | 26 o | o [255620 At I A A B L4 | MGGN300. | o | o | 25870
so-7oie00l 25 | 25 | 150 | 70 | 800 | 40 | 26 o | o [255621 0825140 8 | 25 | 128 | 200 | 23.4 | 28 | 140 | M5x16 MRMN300-1 g | o | 555672
10-25/140 10 25 12.8 200 23.4 28 140 ® | e | 255673
MFH332R/L 06-32/200 6 32 16.3 250 30 35 200 ® | e | D55674
SSACN o o 08-32/200 8 32 16.3 250 30 85) 200 M6x20 L5 ® | o | 255675
_ 10-32/200 10 32 16.3 250 30 35 200 ® | ® | 255676
< ° MFH420R/L 08-25/140 8 20 10.3 180 18.4 26 140 ® | e | 255677
4-- _ 10-25/140 10 20 10.3 180 18.4 26 140 M5x12 ® | e | 755678
»E’&Pﬂ» ‘l 12-25/140 12 20 10.3 180 18.4 26 140 La ® | e | 255679
MFH425R/L 08-25/140 8 25 12.8 200 23.4 28 140 ® | e | 255680
External Grooving Workpiece Rotation Direction L [ 10-25/140 10 25 12.8 200 23.4 28 140 M5x16 MGMN400 ® | e D55681
12-25/140 12 25 12.8 200 23.4 28 140 | e | @ 255682
= (Inserts):A20 (Toolholder Parts): P01-P04 R-Type MFH432R/L 08-32/200| 8 32 | 16.3 | 250 30 35 200 mgsmgg“ ® | ® | 255683
10-32/200( 10 32 | 16.3 | 250 30 35 200 M6x20 L5 T e | e 255684
12-32/200 12 32 16.3 250 30 85| 200 ® | ® | 255685
MFH440R/L 08-40/500 8 40 20.3 300 38 41 500 ® | o | 055686
SSACN 2020K09-R35 SC 0973 10-40/500 10 40 20.3 300 38 41 500 M8x25 L6 ® | ® | 255687
2525M09-R40 . B B 12-40/500 12 40 20.3 300 38 41 500 ® | ® | 255688
MFH540R/L 15-40/500 15 40 20.3 300 38 41 500 M8x25 L6 MGMN500..| ® | ® | 255689
>
CQDR % Dimensioning Specification cmensen n§§85§§§§
VC 5 wire|T|B|H|B POBENRRNY
2 = 1604
‘ l" - 29525 FVC1604R 100 1.0(0.05/ 3.5 . .
SI 157 ° T o 150 150135 . .
Profile Copying of Aluminum Wheel Hub Workpiece Rotation Direction 7 L o H My ‘ :fj: . - 200 2.0[0.1|35(|2086 7.4| 7° . .
@ T ; % - 250 25(02|45 . .
= (Inserts): A41 (Toolholder Parts): P01-P04 R-Type i T 300 30/02/45 . .
C40T-QLDR/L65-15A e | e 255630
C40T-QLDR/L80-15A | 160 40 21 300 80 ZRLDO08-LH M6x20 L5 o | & [255631 SGIVFR T..SGIVFR.. Yo
C50U-QLDR/L80-15A 160 50 26 350 80 ® | @ | 255632 R
C40T-QKDR/L60-15A 160 40 21 300 60 e | e 255633 Spring Steel _H_
C40T-QKDR/L75-15A 160 40 21 300 75 ZRKDO06-LH M6x%20 L5 e | o 255634 -fF- K \
C50U-QKDR/L75-15A 160 50 26 350 75 e | e 255635 T \
- X
Machining of End Face Grooving of Inner Hole  Workpiece Rotation Direction “L" L ed !
CBSNR = (Inserts):B118 (Toolholder Parts): P0O1-P04 R-Type
q
-| "l SGIVFR 16N16 17 16 8 30 160 14.8 e | o | 255690
, _ _ o # ‘ ‘* 20Q16 21 20 10 30 180 18.4 VC1604R.. M4x10 T15 e | o 255691
External Chamfering Workpiece Rotation Direction ‘~—LJ—> L ‘ 25R16 26 25 12.5 30 200 23.4 ® | @ | 255692
= (Toolholder Parts): P01-P04 R-Type Spring Steel Shock-Proof Toolholder (Shock-Proof Effect >4 Times Toolholder Diameter)
T-SGIVFR 10K11 11 10 5.5 12 125 9 ® | O |255693
12M11 13 12 6.5 12 150 11 VETI03R.. M2.5x6 e e | 0 |255694
16N16 17 16 8.5 20 160 14.8 ® | O |255695
CBSNR/L 2020K12 20 20 125 32 20 SNMF1204] CP-RCR M6x20 L5 e | o | 255650 20Q16 21 20 10.5 20 180 18.4 VET604R . M4x10 s ® | O |255696
2525M12 25 25 150 32 25 | B ® | e | 255652 25R16 26 25 13 20 200 23.4 ® | O |255697




End Face Grooving Tool

End Face Grooving Tool

>
3 Dimension X oM
5 Dimensioning | ProductIimage | Specification nzz3SQ8Lee
s ommzy¥ooaao
3 Wl re| L | B|H|O|mOONNNNNN
re
==
===
T | T RN FGD 300R-03 |3.0[03[150[20[40] - .
ﬁ 400R-04 4.0(04(15.0/30(45]| - .
H _ 500R-04 [50|04(150{40|50] - .
= B
g Dimension | X0 _ owne 2 HI ﬁ
S Dimensioning Product Image Specification nzz3588Le St
g ommzx¥ooaoa
S WI{re|L|B|H|H|ROONNNNNN
re re
B, / )
o (R . (Bl
ol RNe FMM  300R-03 | 3003150/ 20 (391 - . ool Ne FGM  300R-03 [30[03|150|20|40] -
g 400R-04 |4.0|04(150]3.0(3.96| - . 8 400R-04 | 4.0[04[150[30[45] - .
H 500R-04 50|04 (15.0{ 4.0 [4.42| - L g 500R-04 5.0(04(15.0/4.0(50]| -
Mol g
s 70 ST

FGHH..R.. @Dmin -;.— @Dmax
h‘ ‘h1
bl Tmax' f
Machining of End Face Grooving Workpiece Rotation Direction *‘ L ?*
= (Inserts): A35/B119 (Toolholder Parts): PO1-P04 R-Type
Number
FGHH320R/L- 25/30 25 30 | 20.6 | 20 20 125 12 o | ® (261100
30/35 30 85! 20.6 20 20 125 12 FMM300R-03 M5%20 L5 e | e 261102
35/48 35 48 | 206 | 20 20 125 12 o | e (261104
48/60 48 60 | 20.6 | 20 20 125 22 o [ o [261106
60/75 60 75 20.6 20 20 125 22 FGD300R-03 M5%20 L5 e | ® 261108
75/100 75 100 | 20.6 20 20 125 22 | FGM300R-03 o | @ (261110
100/140 | 100 | 140 | 20.6 | 20 20 125 22 o | e [261112
FGHH325R/L- 25/30 25 30 | 25.6 | 25 25 150 12 e | o (261114
30/35 30 35 | 256 | 25 25 150 12 | FMM300R-03 | M5x20 L5 o | e [261116
35/48 35 48 | 256 | 25 25 150 12 o | e (261118
48/60 48 60 | 25.6 | 25 25 150 22 e | o |261120
60/75 60 75 | 25.6 25 25 150 22 | FGD300R-03 e | (261122
75100 | 75 | 100 | 256 | 25 | 25 | 150 | 22 |FGMI0OR-03) M5x20 LS o | e |261124
100/140 | 100 | 140 | 25.6 | 25 25 150 22 o | ® (261126
FGHH420R/L- 25/30 25 30 | 20.6 | 20 20 125 12 e | e (261128
30/35 30 35 | 20.6 | 20 20 125 12 | FMM400R-04 |  M5x20 L5 o | 0 (261130
35/48 35 48 | 20.6 | 20 20 125 12 ° | e 261132
48/60 48 60 | 20.6 | 20 20 125 25 o | e [261134
60/75 60 | 75 | 206 | 20 | 20 | 125 | 25 |FSBAOOR0Y o | e 261136
751100 | 75 | 100 | 20.6 | 20 20 | 125 | 25 R-041 M5x20 L5 o | e 261138
100/140 | 100 | 140 | 20.6 | 20 20 125 25 e | o 261140
FGHH425R/L- 25/30 25 30 | 25.6 | 25 25 150 12 o | o [261142
30/35 30 35 | 256 | 25 25 150 12 | FMM400R-04| MB5x20 L5 e | o (261144
35/48 35 48 | 256 | 25 25 150 12 o | (261146
48/60 48 60 | 25.6 | 25 25 150 25 o | e 261148
60/75 60 7% 25.6 25 25 150 25 FGD400R-04 M5%20 L5 e | @ [261150
75/100 75 100 | 25.6 | 25 25 150 25 | FGM400R-04 e | o 261152
100/140 | 100 | 140 | 25.6 | 25 25 150 25 o | o 261154
FGHH520R/L- 25/30 25 30 | 20.6 | 20 20 125 12 e | e (261156
30/35 30 35 | 20.6 | 20 20 125 12 M5x20 L5 o | o 261158
35/40 35 40 | 20.6 | 20 20 125 20 | FMMS500R-04 e | @ 261160
40/48 40 48 | 20.6 | 20 20 125 20 ° | ® (261162
48/60 48 60 | 20.6 | 20 20 125 25 I o | e |261164
60/75 60 75 | 20.6 | 20 20 125 25 - o | (261166
75100 | 75 | 100 | 20.6 | 20 | 20 | 125 | 25 | CMSOORO04) M5x20 LS o | e |261168
100/140 [ 100 | 140 | 20.6 | 20 20 125 25 e | ® (261170
FGHH525R/L- 25/30 25 30 | 25.6 | 25 25 150 12 o | e 261172
30/35 30 35 | 25.6 | 25 25 150 12 M5x20 L5 o | o (261174
35/40 35 40 | 256 | 25 25 | 150 | 20 |FMMS00R-04 o | o (261176
40/48 40 48 | 25.6 | 25 25 150 20 o | o 261178
48/60 48 60 | 25.6 | 25 25 150 25 | 0s00R.04 e [ e (261180
60/75 60 75 | 25.6 | 25 25 150 25 | FGM500R-04| MB5x20 Ls o | ® (261182
75/100 75 100 | 25.6 | 25 25 150 25 e | o 261184
100/140 [ 100 | 140 | 25.6 | 25 25 150 25 o | ® (261186

FGVH..R..

oDmin gDmax

h1
Machining of End Face Grooving L
\
- T
f _v
e R-Type
Tmax
Workpiece Rotation Direction
= (Inserts): A35/B119 (Toolholder Parts): P01-P04
Number
FGVH320R/L- 25/30 25 30 | 36.5 20 20 125 12 e | @ | 261188
30/35 30 85 36.5 20 20 125 12 | FMM300R-03 M5x20 L5 e | e 261190
35/48 35 48 | 36.5 20 20 125 12 e | @ 261192
48/60 48 60 | 46.5 20 20 125 22 o | o |261194
60/75 60 75 46.5 20 20 125 22 FGD300R-03 M5x20 L5 e | @ 261196
75/100 75 100 | 46.5 | 20 20 125 2277| FGM300R-03 o | o 261198
100/140 100 140 | 46.5 20 20 125 22 e | @ |261200
FGVH325R/L- 25/30 25 30 41 25 25 150 12 e | o |261202
30/35 30 35 41 25 25 150 12 | FMM300R-03 | M5x20 L5 e | o 261204
35/48 B8O 48 41 25 25 150 12 e | o |261206
48/60 48 60 51 25 25 150 22 e | @ 261208
60/75 60 75 51 25 25 150 22 FGD300R-03 M5x20 L5 e | e 261210
75/100 75 100 51 25 25 150 22 | FGM300R-03 e | e 261212
100/140 100 140 51 25 25 150 22 o | o |261214
FGVH420R/L- 25/30 25 30 | 36.5 20 20 125 12 e | @ 261216
30/35 30 35 | 36.5 20 20 125 12 | FMM400R-04 | M5x20 L5 e | o 261218
35/48 35 48 | 36.5 20 20 125 12 e | ® 261220
48/60 48 60 | 46.5 20 20 125 25 e | o |261222
60/75 60 75 | 46.5 20 20 125 25 | FGD400R-04 e | e 261224
75/100 75 | 100 | 465 | 20 20 | 125 | 25 |Fomacor-04| M5¥20 L5 o | o 261226
100/140 100 140 | 46.5 20 20 125 25 e | @ 261228
FGVH425R/L- 25/30 25 30 41 25 25 150 12 e | e |261230
30/35 30 35 41 25 25 150 12 FMM400R-04 M5%20 L5 e | e 261232
35/48 35 48 41 25 25 150 12 e | o |261234
48/60 48 60 51 25 25 150 25 e | @ |261236
60/75 60 75 51 25 25 150 25 FGD400R-04 M5x20 L5 e | @ 261238
75/100 75 100 51 25 25 150 25 | FGM400R-04 e | o |261240
100/140 100 140 51 25 25 150 25 o | o |261242
FGVH520R/L- 25/30 25 30 | 36.5 20 20 125 12 o | @ |261244
30/35 30 35 | 36.5 20 20 125 12 M5x20 L5 o | o |261246
35/40 35 40 | 445 20 20 125 20 |FMMS500R-04 e | @ 261248
40/48 40 48 | 44.5 20 20 125 20 ® | @ |261250
48/60 48 60 | 49.5 20 20 125 25 e | o |261252
60/75 60 75 | 49.5 20 20 125 25 | FGD500R-04 M5x20 L5 e | e 261254
75/100 75 100 | 49.5 20 20 125 25 | FGM500R-04 ® | o 261256
100/140 100 140 | 49.5 20 20 125 25 ® | ® |261258
FGVH525R/L- 25/30 25 30 41 25 25 150 12 e | e |261260
30/35 30 85 41 25 25 150 12 M5x20 L5 e | e 261262
35/40 35 | 40 | 49 25 25 | 150 | =20 |FMMSO00R-04 o | o |261264
40/48 40 48 49 25 25 150 20 e | o |261266
48/60 48 60 54 25 25 150 25 e | @ 261268
60/75 60 75 54 25 25 150 25 FGD500R-04 M5x20 L5 e | @ 261270
751100 75 100 54 25 25 150 25 | FGMS00R-04 e | e 261272
100/140 100 140 54 25 25 150 25 o | o |261274




End Face Grooving Tool End Face Grooving Tool

Cutting Environment @ Stable Cutting @ GeneralCutting 3 Unstable Cutting

MGFHLR oDmax —...: gDmin
P Steel 00 20X@ " I _
M Stainless Steel [¢] #O h1 ‘ h
K Iron e o £ _t
N pp! Plastic/Wood ° o _
S Carbide/Powder Metallurgy ° %@ ‘ Tmax ‘ b
- Titanium/Superalloy/Carbon Fiber ° EXY) wl i
> Machining of End Face Grooving Workpiece Rotation Direction | L ‘
}: Dimension ¥U-Jo‘_85$8
g _ _ - S Ea e N = (Inserts): A35/B121 (Toolholder Parts): P01-P04 R-Type
g Dimensioning Product Image Specification Wl re| L |B|H|O|mOONNNNNN
B‘L re
1 r@ YEY & a0l 02sol20] 20| . MGFHLR 320- 24/35-T10 24 35 | 206 | 20 20 125 10 e | e [261700
B 29/40-T10 29 40 20.6 20 20 125 10 e | o | 261702
g 34/50-T10 34 50 20.6 20 20 125 10 e | e | 261704
3 2] 44/70-T10 44 70 | 206 | 20 20 125 10 o | o | 261706
64/69-T10 64 99 20.6 20 20 125 10 e | o | 261708
325- 24/35-T10 24 35 25.6 25 25 150 10 MFMN300.. M6x20 L5 e | o | 261710
29/40-T10 29 40 25.6 25 25 150 10 e | o | 261712
34/50-T10 34 50 25.6 25 25 150 10 e | e | 261714
44/70-T10 44 70 25.6 25 25 150 10 e | o | 261716
64/69-T10 64 99 25.6 25 25 150 10 e | e |261718
MGFHLR 420- 62/120-T15 62 120 | 20.6 20 20 125 15 o | o [261720
112/200-T15 112 200 20.6 20 20 125 15 o | o |261722
425. 621120-T15 62 120 | 25.6 | 25 25 150 15 |MGMN400..|  M6x20 LS o | o |261724
112/200-T15 112 200 25.6 25 25 150 15 o | o |261726
MGFHRR " oDmax
T T MGFHRL @Dmin ;.. —#Dmax
h1‘ h - -
- h‘ h1
[ | - T
Machining of End Face Grooving Workpiece Rotation Direction 0 L ‘7 br Tmax
‘ I f
= (Inserts): A35/B121 (Toolholder Parts): P01-P04 R-Type Machining of End Face Grooving Workpiece Rotation Direction *‘ L 7’*
MGFHRR 320- 24/35-T10 e | o 261600
29/40-T10 29 40 20.6 20 20 125 10 e | o 261602 -~
24/50-T10 34 50 206 20 20 125 10 o | o |261604 MGFHRL 320- 24/35-T10 24 35 20.6 20 20 125 10 o le 261750
0 206 20 20 125 10 o | o |261606 29/40-T10 29 40 20.6 20 20 125 10 261752
SO : 34/50-T10 34 | 50 | 206 | 20 [ 20 | 125 | 10 o | 261754
64/69-T10 64 99 20.6 20 20 125 10 MEMN300..|  M6x20 L5 e | e 261608 44/70-T10 44 70 20.6 20 20 125 10 o | o (261756
325- 24/35-T10 24 85 25.6 25 25 150 10 e | o 261610 64/69-T10 64 99 20.6 20 20 125 10 MEMN300 M6x20 L5 ® | o | 261758
29/40-T10 29 40 25.6 25 25 150 10 e | e 261612 325- 24/35-T10 24 35 25.6 25 25 150 10 v e | o 261760
34/50-T10 34 50 25.6 25 25 150 10 o | o [261614 29/40-T10 29 40 25.6 25 25 150 10 ® | o | 261762
smoTio | 44 | 70 | 256 | 25 | 25 | 150 | 10 o | o |261616 Pl P I - s B B B ol oo
64/69-T10 64 99 | 256 | 25 25 | 150 | 10 ® | ® |261618 64/69-T10 64 99 | 256 | 25 25 | 150 | 10 o | o | 261768
MGFHRR 420- 62/120-T15 62 120 | 20.6 20 20 125 15 e | e 261620 MGFHRL 420- 62/120-T15 62 120 | 20.6 20 20 125 15 ® | o 261770
112/200-T15 | 112 200 | 20.6 20 20 125 15 e | e 261622 112/200-T15 112 200 | 20.6 20 20 125 15 e | o (261772
425- 62/120-T15 62 120 25.6 25 25 150 15 MGMN400..|  M6x20 L5 e | ® 261624 425- 62/120-T15 62 120 25.6 25 25 150 15 MEMN400.. M6x20 Lo e | o | 261774
1220015 | 112 | 200 | 256 | 25 | 25 | 150 | 15 o | e |261626 mz2zoo-s | 112 | 200 | 256 | 25 | 25 | 150 | 15 o | o 261776
MGFHLL gDmax’; MGFVR oDmin,.— sDmax
T h1|,«1.': | h
h1 g i
o 1 - | L |
| L
E‘na‘x | b
Machining of End Face Grooving Workpiece Rotation Direction L 0 Machining of End Face Grooving Workpiece Rotation Direction -— f l-rmax -
= (Inserts): A35/B121 (Toolholder Parts): P01-P04 R-Type = (Inserts): A35/B121 (Toolholder Parts): PO1-P04 B R-Type
MGFHLL 320- 24/35-T10 20.6 125 | 10 ® | ® 261650 MGFVRIL 320- 24/35-T10 24 35 | 31.6 | 20 20 125 10 o | o | 261500
29/40-T10 29 40 20.6 20 20 125 10 e | o 261652 29/40-T10 29 40 31.6 20 20 125 10 e | o | 261502
34/50-T10 34 50 20.6 20 20 125 10 e | o 261654 34/50-T10 34 50 31.6 20 20 125 10 e | e | 261504
44/70-T10 44 70 20.6 20 20 125 10 e | e 261656 44/70-T10 44 70 31.6 20 20 125 10 ® | o | 261506
T1 4 . 9 2 o | o |261 64/69-T10 64 99 | 31.6 | 20 20 125 10 o | o | 261508
6463110 | 6 99 | 206 | 20 0 | 125 1 10 lyEyN300.| Mex20 L5 61658 s25. 2435710 | 24 | 35 | 366 | 25 | 25 | 150 | 10 |MFMN300.| M6x20 L5 o | o | 261510
325- 24/35-T10 24 85 25.6 25 25 150 10 e | e 261660 20/40-T10 29 40 36.6 25 25 150 10 o | o | 261512
29/40-T10 29 40 25.6 25 25 150 10 e | e 261662 34/50-T10 34 50 366 25 25 150 10 o | o | 261514
34/50-T10 34 50 25.6 25 25 150 10 o | o (261664 44/70-T10 44 70 36.6 25 25 150 10 o | o | 261516
44/70-T10 44 70 25.6 25 25 150 10 e | o 261666 64/69-T10 64 99 36.6 25 25 150 10 e | o | 261518
64/69-T10 64 99 25.6 25 25 150 10 e | ® 261668 MGFVRI/L 420- 44/60-T15 44 60 36.6 20 20 125 15 e | e | 261520
MGFHLL 420- 62120T15 | 62 | 120 | 20.6 | 20 | 20 | 125 | 15 o | e (261670 anaTs | 25 | sy | Seb) 2020 | 1 s o o e,
112/200-T15 | 112 200 | 20.6 20 20 125 15 MGMN400.| M6x20 L5 e | o 261672 425- VA4G05TAS 44 60 1.6 25 25 150 15 MGMN400.. M6x20 L5 o | o | 261526
425- 62/120-T15 62 120 25.6 25 25 150 15 e | o 261674 62/120-T15 62 120 41.6 25 25 150 15 o | o | 261528
112/200-T15 | 112 200 | 25.6 25 25 150 15 ® | & 261676 112/200-T15 112 200 | 41.6 25 25 150 15 e | e | 261530




End Face Grooving Tool

End Face Grooving Tool

§ Dimension X o= oM
5 Dimensioning Product Image Specification ﬁZZ‘SSggﬁﬁ
g? wlrel L] e|n|o RESESIRAN
B, 6
%»\N& ZTED 02503-MG |2.5|0.3] 17 o
L 0303-MG | 3.0(03]| 17 . .
F > 0404-MG | 40|04 |22 -
gﬁ ﬁ 0504-MG | 5.0(0.4] 22 o e
L 0608-MG [6.0{0.8| 22 o o
@%@% ZRED 025-MG | 2.5(1.25175| - . o
S oimg  |i0|2o| 2 N B
- e [ d
74le
QF..R.. oDmax —.. - gDmin
h1 ‘h
Tmax 1
|, B
Machining of End Face Grooving Workpiece Rotation Direction 7\,7' L ‘*
= (Inserts): A41/B123 (Toolholder Parts): P01-P04 R-Type
Order
Number
QFFD 2020R/L 7-48H 48 66 21 20 20 125 7 ® | @ 263532
10-48H 48 66 21 20 20 125 10 e | @ |263534
7-60H 60 80 21 20 20 125 7 e | @ 263540
10-60H 60 80 21 20 20 125 10 e | @ |263542
7-74H 74 100 21 20 20 125 7 ® | @ [263548
10-74H 74 100 21 20 20 125 10 e | @ | 263550
7-100H 100 150 21 20 20 125 7 ® | @ |263556
10-100H| 100 150 21 20 20 125 10 | ZTFD0303..| M6%20 L5 e | @ | 263558
2525R/L 10-48H 48 66 26 25 25 150 10 ® | @ 263536
17-48H 48 66 26 25 25 150 17 e | @ |263538
10-60H 60 80 26 25 25 150 10 e | e 263544
17-60H 60 80 26 25 25 150 17 ® | @ |263546
10-74H 74 100 26 25 25 150 10 ® | ® | 263552
17-74H 74 100 26 25 25 150 17 ® | @ |263554
10-100H| 100 150 26 25 25 150 10 e | e 263560
17-100H| 100 150 26 25 25 150 17 e | ® | 263562
QFGD 2020R/L 10-52H 52 72 21 20 20 125 10 ® | @ 263564
13-52H 52 72 21 20 20 125 13 ® | ® | 263566
10-64H 64 100 21 20 20 125 10 ® | @ 263572
13-64H 64 100 21 20 20 125 13 e | @ |263574
10-90H 90 140 21 20 20 125 10 ® | @ 263580
13-90H 90 140 21 20 20 125 13 ® | ® 263582
10-130H| 130 230 21 20 20 125 10 e | & 263588
13-130H| 130 230 21 20 20 125 13 e | @ 263590
2525R/L 15-52H | 52 72 | 26 25 25 | 150 | 15 |Z£TGD0404..| M6x20 L5 o | o 263568
22-52H 52 72 26 25 25 150 22 e | @ 263570
15-64H 64 100 26 25 25 150 15 ® | e 263576
22-64H 64 100 26 25 25 150 22 ® | ® | 263578
15-90H 90 140 26 25 25 150 15 ® | o 263584
22-90H 90 140 26 25 25 150 22 ® | @ 763586
15-130H| 130 230 26 25 25 150 15 ® | o 263592
22-130H| 130 230 26 25 25 150 22 ® | e 263594
QFHD 2525R/L 13-58H 58 96 26 25 25 150 13 ® | e 263500
22-58H 58 96 26 25 25 150 22 e | @ 263502
13-86H 86 140 26 25 25 150 13 ® | e 263504
22-86H 86 140 26 25 25 150 22 ® | @ 263506
13-130H| 130 200 26 25 25 150 13 ZTHD0S04..\  M6x20 Ls ® | & 263508
22-130H| 130 200 26 25 25 150 22 ® | @ 263510
13-185H| 185 400 26 25 25 150 13 ® | @ 263512
22-185H| 185 400 26 25 25 150 22 ® | e 263514
QFHS 2525R/L 30-185H| 185 400 26 25 25 150 30 | ZTHS0504.. M6x%20 L5 ® | e 263516
QFKD 2525R/L 13-60H 60 100 26 25 25 150 13 ® | & 2763518
22-60H 60 100 26 25 25 150 22 ® | e 263520
13-88H 88 180 26 25 25 150 13 ® | e |0G3522
22-88H 88 180 26 25 25 150 22 | ZTKDO0608.. M6x20 L5 ® | e 263524
13-160H| 160 400 26 25 25 150 13 ® | e 063526
22-160H| 160 400 26 25 25 150 22 ® | e 263528
QFKS 2525R/L 30-160H| 160 400 26 25 25 150 30 | ZTKSO0608.. M6x20 L5 ® | ® 263530

HRC46-58

M
K

HB50-70

HB70-110

S

(Cutting Speed) : m/min™ (mm)
PCD CBN-K CBN-S ZN60 ZN90 ZKo1 ZC250 ZC251 ZC328 ZP152 ZP153 ZP163 ZK50 ZK508
CcVvD CcvD CcvD
150-600 | 150-800 70-500 | 150-500 | 150-600 | 70-250 | 100-250 | 80-300
150-350 | 150-500 70-250 | 80-350 | 100-400 | 70-150 | 80-150 | 60-200
10-30 20-60 20-60 20-80
200-300 | 200-350 50-150 | 70-150 | 50-200
300-1500 100-300 = 100-350 200-300 = 200-350
400-800 100-200  100-250 150-200 = 150-250
300-1200 300-1200
300-1500 300-1500
300-800 300-800
300-1000 300-1000
10-30 10-30 20-50
400-600 400-600
100-200 100-200 20-50 20-60 30-80

Cutting Environment

@ Stable Cutting

@ General Cutting

& Unstable Cutting

Cutting Environment @ Stable Cutting

@ GeneralCutting @& Unstable Cutting

P Steel o0 20%0 P Steel DOBETED
M Stainless Steel (e} ®O M Stainless Steel [e] 2?20
K Iron e o ® K Iron o o E
N pp! Plastic/ d '] N pper (")

S Carbide/Powder Metallurgy FX) S Carbide/Powder Metallurgy 2@
- Titanium/Superalloy/Carbon Fiber ° 2@ - Titanium/Superalloy/Carbon Fiber ° %@
> >
2 Dimension X o= am s Dimension X oo™
3 Dimensioning | ProductImage | Specification nzz35d8RLe ¢ Dimensioning | Product Image | Specification 0z2z35882L
2 onmzxoooao 2 ommzx¥ooaoa
] wire| L [B|H|CEOONNNNNN 5 Wlre| L |B|H|O [EOONNRNNNN

re
MGMN 150-G 1.50.1516.0{ 1.2{ 35| - IERENE ek MGMN 200-T coes
200-G 20/02|16.0{1.6 35| - L] == wl ¢ 201021160/ 16155) -
. e 250-T 2.5|0.2(18.5(2.0 [3.85| - DRI
250-G 25|02[185(2.0(3.85| - eecoee oL IN\E 300-T Soloalotolaslasl M
300-G 3010412101235 481 - N 400-T 40042103348 - LY
400-G 40|04 (210/33]48]| - EE = =" | 500-T solosbeolatlssl - NN
pO0sS 5010612601411 58] - N 600-T 6.0(0.8(26.05.0(5.8]| - coee
600-G 6.0|08(260[50(58] - 7 JIb
MGMN 200-M |20 [02[16012]35| -
250-M 5 |02]185]2.0(3.85] - eeceee
N 300-02-M [30 |0.2|210[2.35/ 48| - ceccee
g i3] 300-M |30 |04 |210[235/ 48| - DI
ES [ e 350-03-M [35 |03 |210/29]48]| - MGMN 200-H 2010211611635 - Ml C
2 > 400-02-M [0 |02]210/33]48] - eeccce 300-H 3.0/0.2]21[2.35/4.8]| - LY
H v 400-M PO |04|210[33]48] - cecece 400-H 40)02)21133/48) - ‘H°B
solElew 8 500-04-M 5.0 |04 |260(4.1(58]| - ceccee 500-H 50/04]26|4.1/58] - i O ©
I 500-M 5.0 |08(260]4.1|58] - ceccses
< 600-M .0 |08|260/50|58] - eeceee
800-M [0 |08310/60(65]| - coe
]6 re
=
H = Re MGMR 300-6D-PS | 3.0 0.2 [21.0[2.35 4.8 | 6.0 MGML 300-6D-PS | 3.0|0.2 [21.0[2.35[4.8| 6.0
3 300-8D-PS | 3.0]0.221.0[2.35[ 4.8 | 8.0 300-8D-PS |3.0]0.2[21.0[2.35/ 4.8 | 8.0
[ B 300-15D-PS| 3.0 | 0.2 |21.0[2.35] 4.8 [15.0) 300-15D-PS| 3.0 0.2 [21.0(2.35 4.8 [15.0
Sl gs 400-4D-PS | 4.0|0.3[21.0/3.3|4.8]4.0 400-4D-PS |4.0]0.3[21.0/33(4.8|4.0
0 500-4D-PS | 5.0]0.3(26.0[4.1[5.8|4.0 500-4D-PS |5.0]0.3[26.0[4.1(58|4.0

o MGMN 200L-6  |20|0.2(16.0[16|36|60 ceecee
g MGMN 200R-6 |20 [02[16.0[16]36 |60 300L-6  |3.0]0.2(21.002.35/ 48|60
E 300R-6 | 3.0|0.2[21002.35 48 |6.0 300L-8  |3.0]0.2[21002.35/ 48|80 ceccce
300R-8 | 3.0(0.2[21.02.35 4.8 | 8.0 300L-15 | 3.0{0.2(21.0[2.35 4.8 |15.0
300R-15 | 3.0{0.2[21.0[2.35 4.8 |15.0) 400L-4  |40]03[21.0/33]48]40 cescee
b 400R-4 |4.0|03(21.0/3.3]48]40 500L-4 |50(0.3[260[4.1]58|40 ceseee
500R-4 |50(03[26.0{4.1(58|4.0
N 8 ze7£ MGGN 150R-8 |15 |0.15(16.0| 12|35 & MGGN 150L-8 5 |0.15/16.0{1.2 |35/ &° . .
2 G%]ﬂ@ 200R-8 PO |02]160|16]35] & 200L-8 b0 |02[160[16]35] & .o .o
E o . 250R-8 P5 |02|18520 385 & 250L-8 b5 |02|185]20[385| & .o .o
3 b e 300R-8 30 |04 |210[2.35 48| &° 300L-8 0 |04[2102.35/48 | & .o .o
. 400R-8 0 |04(21033]48] 8 400L-8 0 |04 (21033 48] & .o .
H W] 500R-8 |50 |0.8[260]4.1|58| & 500L-8 50 |08|26041|58| 8 oo .
ik 600R-8  [5.0 |0.8(260[50 58| & 600L-8 0 |08(260/50|58| 8 . .
e
MGMN 150 15]015/16.0[16[35] - e e
. 200 20[020160]16(35] - [e e e
8 f' 250 25|02 (185 2.0(3.85 - |e o e
13 v MGGN 150 1.5 |0.15/16.0[ 1.2 (35| - L] 300-02 3.0|0.2[21.0[2.35/ 4.8 coe
== (T 200 o [02]160[16(35] - oo 300 30|04 2100235/ 4.8| - |o e e
sl e 250 25 02[18520(385| - o 350-03  |35[0.3(21.0[2.354.8 e
B 300 80 |04[210[235/48| - oo 400-02  [40|02[21.0/3.3|4.8 cee
g 3 400 4o |04(210/33|48] - . 400 40|04 [21.033|4.8 e
S e 500 50 |08 [260[41|58] - . 500-04  [5.0]04[26.0[4.1(58| - |e e e
- |7 ! : 500 5.0/0.8(26.0[4.1|58 coe
7 Ib 600 6.0 |0.8(260/50|58| - . 00 R e e e O S
700 70|08 |26.0/5.0|5.8 e
800 8008 31.06.0|6:5 .
MRMN 150 15(0.75/16.0[12[35| - e o ®
g, e g, e 200 20(1.0[16.0 16|35 cee
MRMN 200-M 20|1.0(16.0 15|35/ - ceee 250 251250185 2.0(3.85 - |o ® @
R @Ef@i 300-M 30| 152100235 48| - en=cal A 300 30[1521.0[2.35(4.8| - |o oo
H [ 400-M 40(2021.0/33|48] - R 350 3.5 |1.7521.0[2.35| 4.8 e
H 500-M 5.0|25(26.0/4.1|58] - 400 4020210 33|48 cee
== riw] 600-M 6.0|3.0(26.0(5.0(58] - ﬁ ] 500 5.0|25(26.0[4.1|58 coe
- 800-M 8.0[4.0[31.06.0|65] - coee — It 600 6.0(3.0(26.05.05.8 ces
r 7 700 7.0|3.526.0/5.0|5.8 e
800 8.0/4.031.0 60|65 cese
S re
H B
Ey ]
5 w
: ‘@%@L ‘ MRGN 400-A 40[2021.0/33|48] - . MVGN 8N-AR12| - |12l00/60/69] - .
I 500-A 50|25/26.0 41|58 - ° 8N-A-R1.6| - |16[300[60(69]| - .
E 600-A 6.0|3.0(26.0/5.0 (58] - .
[ E= = 800-A 8.0|4.0(31.06.0(65] - .
§ - |7
H )




End Face Grooving Tool End Face Grooving Tool

MGFV..R.. oDmin 2Dmax MGFV..L.. - M\g 2Dmin
e - m| h |- | A [m
| L | MGFV..L
(MGFV..R) | L | _ T ( )
= f IE L ik
| Tmax Tmax |
Machining of End Face Grooving Workpiece Rotation Direction R-Type Machining of End Face Grooving Workpiece Rotation Direction R-Type
IS (Inserts):A35-A36 (Toolholder Parts): P01-P04 I  (Inserts):A35-A36 (Toolholder Parts): P01-P04
Number Number
MGFV220R 10-20/36 20 36 30.5 20 20 125 10 e | @ | 265000 MGFV220L 10-20/36 20 36 30.5 20 20 125 10 e | @ 265116
10-30/50 30 50 30.5 20 20 125 10 e | e | 265002 10-30/50 30 50 | 30.5 20 20 125 10 e | o | 265118
10-50/80 50 | 80 | 30.5 | 20 20 | 125 | 10 |MGMN200.. o | o |265004 10-50/80 50 | 80 | 30.5 | 20 20 | 125 | 10 |MGMN200.. o | o |265120
1080160 | 80 | 160 | 30.5 | 20 | 20 | 125 | 10 mgﬁmggg M5>20 L4 o | o 265006 1080160 | 80 | 160 | 30.5 | 20 | 20 | 125 | 10 mgﬁmggg M5x20 L4 o | o [265122
10-160/400 | 160 | 400 | 30.5 20 20 125 10 v ® | e 265008 10-160/400 | 160 | 400 | 30.5 20 20 125 10 h ® | e 265124
15-200/800 | 200 800 | 35.5 20 20 125 15 e | e | 265010 15-200/800 200 800 | 35.5 20 20 125 15 e | @ |265126
MGFV225R  10-20/36 20 36 | 35.5 25 25 150 10 e | e 265012 MGFV225L  10-20/36 20 36 | 35.5 25 25 150 10 ® | e 265128
10-30/50 30 50 6.5 25 25 150 10 e | e |265014 10-30/50 30 50 | 35.5 25 25 150 10 e | @ |265130
MGMN200.. MGMN200..
10-50/80 50 80 35.5 25 25 150 10 MGGN200 M5x20 L4 ® | @ |265016 10-50/80 50 80 | 35.5 25 25 150 10 MGGN200 M5x20 L4 e | @ 265132
10-80/160 80 160 | 35.5 25 25 150 10 MRMN200:: ® | @ |265018 10-80/160 80 160 | 35.5 25 25 150 10 MRMN200:: e | @ |265134
10-160/400 160 400 35.5 25 25 150 10 e | @ 265020 10-160/400 160 400 | 35.5 25 25 150 10 e | ® 265136
15-200/800 | 200 800 | 40.5 25 25 150 15 ® | o | 265022 15-200/800 200 800 | 40.5 25 25 150 15 e | @ |265138
MGFV2.5-20R  10-20/36 20 36 30.5 20 20 125 10 ® | e | 265024 MGFV2.5-20L  10-20/36 20 36 | 30.5 20 20 125 10 ® | ® | 265140
10-30/50 30 50 30.5 20 20 125 10 MGMN250.. ® | e | 265026 10-30/50 30 50 | 30.5 20 20 125 10 MGMN250.. ® | o |265142
15-50/80 50 80 35.5 20 20 125 15 MGGN250.. M5%20 La e | e | 265028 15-50/80 50 80 | 35.5 20 20 125 15 MGGN250.. M5x20 L4 e | o 265144
15-80/160 80 160 | 35.5 20 20 125 15 | MRMN250.. ® | e | 265030 15-80/160 80 160 | 35.5 20 20 125 15 | MRMN250.. e | o |265146
15-160/400 160 400 35.5 20 20 125 15 ® | @ 265032 15-160/400 160 400 | 35.5 20 20 125 15 e | @ 265148
15-200/800 | 200 800 | 35.5 20 20 125 15 e | o | 265034 15-200/800 200 800 | 35.5 20 20 125 15 e | @ |265150
MGFV2.5-25R  10-20/36 20 36 35.5 25 25 150 10 e | o | 265036 MGFV2.5-25L  10-20/36 20 36 35.5 25 25 150 10 e | e 265152
10-30/50 30 50 8585 25 25 150 10 e | o 265038 10-30/50 30 50 B585 25 25 150 10 e | @ 265154
15-50/80 50 | 80 | 405 | 25 | 25 | 150 | 15 mggmggg 520 9 o | o |265040 15-50/80 50 | 80 | 405 | 25 | 25 | 150 | 15 mggzggg 520 ¥ o | o |265156
15-80/160 80 160 | 40.5 25 25 150 15 MRMN250:: ® | o 265042 15-80/160 80 160 | 40.5 25 25 150 15 MRMN250:: e | o 265158
15-160/400 160 400 | 40.5 25 25 150 15 e | o | 265044 15-160/400 160 400 | 40.5 25 25 150 15 e | e | 265160
15-200/800 | 200 800 | 40.5 25 25 150 15 ® | o |265046 15-200/800 200 800 | 40.5 25 25 150 15 e | @ 265162
MGFV320R 15-20/36 20 36 35.5 20 20 125 15 e | @ 265048 MGFV320L 15-20/36 20 36 35.5 20 20 125 15 e | o 265164
15-30/50 30 50 5.5 20 20 125 15 MGMN300... ® | e | 265050 15-30/50 30 50 | 35.5 20 20 125 15 MGMN300.. ® | o |265166
15-50/80 50 80 35.5 20 20 125 15 MGGN300.. M5x20 L4 e | @ | 265052 15-50/80 50 80 | 35.5 20 20 125 15 MGGN300. . M5x20 La e | @ 265168
15-80/160 80 160 | 35.5 20 20 125 15 | MRMN300.. ® | e | 265054 15-80/160 80 160 | 35.5 20 20 125 15 | MRMN300.. e | @ |265170
15-160/400 | 160 400 | 35.5 20 20 125 15 ® | @ | 265056 15-160/400 160 400 | 35.5 20 20 125 15 ® | ® 265172
15-200/800 | 200 800 | 35.5 20 20 125 15 ® | @ | 265058 15-200/800 200 800 | 35.5 20 20 125 15 o | @ |265174
MGFV325R 15-20/36 20 36 40.5 25 25 150 15 e | e | 265060 MGFV325L 15-20/36 20 36 40.5 25 25 150 15 e | ® 265176
15-30/50 30 50 40.5 25 25 150 15 | MGMN300.. ® | e |265062 15-30/50 30 50 | 40.5 25 25 150 15 | MGMN300.. e | @ |265178
15-50/80 50 80 40.5 25 25 150 15 MGGN300.. M5x20 L4 e | o | 265064 15-50/80 50 80 40.5 25 25 150 15 MGGN300.. M5%20 L4 e | e 265180
15-80/160 80 160 | 40.5 25 25 150 15 | MRMN300.. ® | e | 265066 15-80/160 80 160 | 40.5 25 25 150 15 | MRMN300.. e | o |265182
15-160/400 | 160 400 | 40.5 25 25 150 15 ® | o | 265068 15-160/400 160 400 | 40.5 25 25 150 15 e | o 265184
15-200/800 | 200 800 | 40.5 25 25 150 15 e | e | 265070 15-200/800 200 800 | 40.5 25 25 150 15 ® | ® | 265186
MGFV420R 15-20/36 20 36 35.5 20 20 125 15 e | ® 265072 MGFV420L 15-20/36 20 36 35.5 20 20 125 15 e | o 265188
15-30/50 30 50 35.5 20 20 125 15 MGMN400.. e | e 265074 15-30/50 30 50 35.5 20 20 125 15 MGMN400.. e | e 265190
15-50/80 50 80 | 355 | 20 20 125 15 | MGGN200..| M5x20 L4 e | e [265076 15-50/80 50 80 | 355 | 20 20 125 15 | MGGN200..| M5x20 L4 ® | & 265192
15-80/160 80 160 | 35.5 20 20 125 15 | MRMN200.. e | e |265078 15-80/160 80 160 | 35.5 20 20 125 15 | MRMN200.. e | e 265194
15-160/400 | 160 400 | 35.5 20 20 125 15 e | e 265080 15-160/400 160 400 | 35.5 20 20 125 15 e | @ 265196
15-200/800 | 200 800 355 20 20 125 15 e | @ |265082 15-200/800 200 800 | 35.5 20 20 125 15 e | @ 265198
MGFV425R 15-20/36 20 36 40.5 25 25 150 15 e | @ 265084 MGFV425L 15-20/36 20 36 40.5 25 25 150 15 e | @ | 265200
15-30/50 30 50 40.5 25 25 150 15 | MGMN400.. e | e | 265086 15-30/50 30 50 | 40.5 25 25 150 15 | MGMN400.. e | @ | 265202
15-50/80 50 80 | 405 | 25 25 150 15 | MGGN400..| M5x20 L4 e | e 265088 15-50/80 50 80 | 405 | 25 25 150 15 | MGGN400..| M5x20 L4 e | & 265204
15-80/160 80 160 | 40.5 25 25 150 15 MRMN400.. e | @ 265090 15-80/160 80 160 | 40.5 25 25 150 15 MRMN400.. e | o 265206
15-160/400 | 160 400 | 40.5 25 25 150 15 e | e 265092 15-160/400 160 400 | 40.5 25 25 150 15 e | @ | 265208
15-200/800 | 200 800 | 40.5 25 25 150 15 e | @ 265094 15-200/800 200 800 | 40.5 25 25 150 15 e | @ 265210
MGFV520R 15-30/50 30 50 35.5 20 20 125 15 e | @ 265096 MGFV520L 15-30/50 30 50 | 35.5 20 20 125 15 e | e 265212
15-50/80 50 80 35.5 20 20 125 15 |[MGMN500.. e | o (265098 15-50/80 50 80 | 35.5 20 20 125 15 |MGMN500.. ® | ® 265214
15-80/160 80 160 35.5 20 20 125 15 |MGGN500.. M5x20 L4 e | e 265100 15-80/160 80 160 | 35.5 20 20 125 15 |MGGN500.. M5x20 L4 e | e 265216
15-160/400 160 400 &5.5 20 20 125 15 |[MRMN500.. e | @ 265102 15-160/400 160 400 | 35.5 20 20 125 15 |MRMN500.. e | @ 265218
15-200/800 | 200 800 | 35.5 20 20 125 15 e | e | 265104 15-200/800 200 800 | 35.5 20 20 125 15 e | @ | 265220
MGFV525R 15-30/50 30 50 40.5 25 25 150 15 e | o 265106 MGFV525L 15-30/50 30 50 40.5 25 25 150 15 e | @ |265222
15-50/80 50 80 40.5 25 25 150 15 |MGMNS500.. e | e (265108 15-50/80 50 80 | 40.5 25 25 150 15 |MGMNS500.. ® | o 265224
15-80/160 80 160 | 40.5 25 25 150 15 |MGGN500.. M5x20 L4 e | e | 265110 15-80/160 80 160 | 40.5 25 25 150 15 |MGGN500.. M5x20 L4 e | o | 265226
15-160/400 160 400 40.5 25 25 150 15 |MRMNS500.. e | @ 265112 15-160/400 160 400 | 40.5 25 25 150 15 |MRMNS500.. e | ® 265228
15-200/800 | 200 800 | 40.5 25 25 150 19 e | & 265114 15-200/800 200 800 | 40.5 25 25 150 15 e | ® | 265230




End Face Grooving Tool End Face Grooving Tool

MGHH..R.. eDmin . ; 2EmEX MGHH..L.. obmax ;- obmin
hl |h1 h1| ’h
(MGHH..R) | L | ] L | (MGHH..L)
Machining of End Face Grooving Workpiece Rotation Direction b Tmax I Machining of End Face Grooving Workpiece Rotation Direction I Tmax b
f f
= (Inserts): A35-A36 (Toolholder Parts): P01-P04 R-Type = (Inserts): A35-A36 (Toolholder Parts): P01-P04 R-Type
Order Order
Number Number
MGHH216R  08-20/36 20 36 17 16 16 100 8 ® | e 265232 MGHH216L  08-20/36 20 36 17 16 16 100 8 e | @ | 265360
10-30/50 30 50 17 16 16 100 10 ® | e |265234 10-30/50 30 50 17 16 16 100 10 e | @ |265362
12-50/80 50 80 17 16 16 | 100 | 12 |MGMN200. o | o |265236 12-50/80 50 80 | 17 16 16 | 100 | 12 |MGMN200.. o | o |265364
1380160 | 80 | 160 | 17 | 16 | 16 | 100 | 13 mgmggg“ M5x20 L4 o | o |265238 13s0m60 | 80 | 160 | 17 | 16 | 16 | 100 | 13 mga:ggg“ M5x20 L4 o | o 265366
14-160/400 160 400 17 16 16 100 14 a ® | @ 265240 14-160/400 160 400 17 16 16 100 14 : e | ® |265368
15-200/800 | 200 800 17 16 16 100 15 ® | o | 265242 15-200/800 200 800 17 16 16 100 15 e | @ | 265370
MGHH220R  08-20/36 20 36 21 20 20 125 8 ® | e | 265244 MGHH220L  08-20/36 20 36 21 20 20 125 8 ® | ® | 265372
10-30/50 30 50 21 20 20 125 10 ® | e |265246 10-30/50 30 50 21 20 20 125 10 o | o | 265374
12-50/80 50 | 80 | 21 20 | 20 | 125 | 12 mggs;gg 520 L o | o 265248 12-50/80 50 | 80 | 21 | 20 | 20 | 125 | 12 mggs;gg“ 520 9 o | o 265376
13-80/160 80 160 21 20 20 125 13 MRMN200:: ® | @ | 265250 13-80/160 80 160 21 20 20 125 13 MRMNZOO:: e | @ |265378
14-160/400 160 400 21 20 20 125 14 e | ® |265252 14-160/400 160 400 21 20 20 125 14 e | @ |265380
15-200/800 | 200 800 21 20 20 125 15 ® | o | 265254 15-200/800 200 800 21 20 20 125 15 o | @ | 265382
MGHH225R  08-20/36 20 36 26 25 25 150 8 ® | @ | 265256 MGHH225L  08-20/36 20 36 26 25 25 150 8 e | @ | 265384
10-30/50 30 50 26 25 25 150 10 MGMN200 . ® | e | 265258 10-30/50 30 50 26 25 25 150 10 MGMN200.. ® | o | 265386
12-50/80 50 80 26 25 25 150 12 MGGN200.. M5x20 L4 e | ® 265260 12-50/80 50 80 26 25 25 150 12 MGGN200.. M5%20 L4 e | ® 265388
13-80/160 80 160 26 25 25 150 13 | MRMN200.. ® | e |265262 13-80/160 80 160 26 25 25 150 13 | MRMN200.. e | @ | 265390
14-160/400 160 400 26 25 25 150 14 ® | @ 265264 14-160/400 160 400 26 25 25 150 14 e | @ 265392
15-200/800 200 800 26 25 25 150 15 ® | o | 265266 15-200/800 200 800 26 25) 25 150 15 e | e | 265394
MGHH2.5-20R  13-20/36 20 36 21 20 20 125 13 e | @ |265268 MGHH2.5-20L  13-20/36 20 36 21 20 20 125 13 e | ® | 265396
15-30/50 30 50 21 20 20 125 15 ® | e | 265270 15-30/50 30 50 21 20 20 125 15 ® | ® | 265398
16-50/80 50 | 80 | 21 20 | 20 | 125 | 16 mg"é‘mggg 520 9 o | o |265272 16-50/80 50 | 80 | 21 | 20 | 20 | 125 | 16 mggz;gg 520 L o | o 265400
17-80/160 80 160 21 20 20 125 17 MRMN250:: e | o | 265274 17-80/160 80 160 21 20 20 125 17 MRMN250:: e | e 265402
18-160/400 | 160 400 21 20 20 125 18 ® | @ |265276 18-160/400 160 400 21 20 20 125 18 o | o | 265404
20-200/800 | 200 800 21 20 20 125 20 e | e |265278 20-200/800 200 800 21 20 20 125 20 o | o | 265406
MGHH2.5-25R  13-20/36 20 36 26 25 25 150 13 e | e | 265280 MGHH2.5-25L  13-20/36 20 36 26 25 25 150 13 e | & | 265408
15-30/50 30 50 26 25 25 150 15 e | o 265282 15-30/50 30 50 26 25 25 150 15 e | & 265410
16-50/80 50 | 80 | 26 | 25 | 25 | 150 | 16 mggsggg 520 9 o | o 265284 16-50/80 50 | 80 | 26 | 25 | 25 | 150 | 16 mgg;‘;gg 520 9 o | o (265412
17-80/160 80 160 26 25 25 150 17 MRMNZSO:: ® | e | 265286 17-80/160 80 160 26 25 25 150 17 MRMN250:: e | o |265414
18-160/400 160 400 26 25 25 150 18 ® | @ 265288 18-160/400 160 400 26 25 25 150 18 e | @ 265416
20-200/800 | 200 800 26 25 25 150 20 e | @ 265290 20-200/800 200 800 26 25 25 150 20 e | ® 265418
MGHH320R 13-20/36 20 36 21 20 20 125 13 e | o | 265292 MGHH320L 13-20/36 20 36 21 20 20 125 13 e | ® | 265420
15-30/50 30 50 21 20 20 125 15 | MGMN300.. e | o 265294 15-30/50 30 50 21 20 20 125 15 | MGMN300.. e | @ 265422
16-50/80 50 80 21 20 20 125 16 MGGN300.. M5x20 L4 e | o | 265296 16-50/80 50 80 21 20 20 125 16 MGGN300.. M5x20 L4 e | e | 265424
17-80/160 80 160 21 20 20 125 17 | MRMN300.. e | e |265298 17-80/160 80 160 21 20 20 125 17 | MRMN300.. e | o | 265426
18-160/400 | 160 400 21 20 20 125 18 e | @ | 265300 18-160/400 160 400 21 20 20 125 18 ® | @ | 265428
20-200/800 | 200 800 21 20 20 125 20 e | e 265302 20-200/800 200 800 21 20 20 125 20 e | e | 265430
MGHH325R 13-20/36 20 36 26 25 25 150 13 e | @ 265304 MGHH325L 13-20/36 20 36 26 25 25 150 13 o | ® |265432
15-30/50 30 50 26 25 25 150 15 | MGMN300.. ® | e | 265306 15-30/50 30 50 26 25 25 150 15 | MGMN300.. o | o |265434
16-50/80 50 80 26 25 25 150 16 MGGN300.. M5x20 L4 e | ® 265308 16-50/80 50 80 26 25 25 150 16 MGGN300.. M5x20 L4 e | ® | 265436
17-80/160 80 160 26 25 25 150 17 | MRMN300.. e | e 265310 17-80/160 80 160 26 25 25 150 17 | MRMN300.. e | @ | 265438
18-160/400 160 400 26 25 25 150 18 e | @ 265312 18-160/400 160 400 26 25 25 150 18 e | e | 265440
20-200/800 | 200 800 26 25 25 150 20 e | e 265314 20-200/800 200 800 26 25 25 150 20 ® | @ | 265442
MGHH420R 15-20/36 20 36 21 20 20 125 15 e | @ 265316 MGHH420L 15-20/36 20 36 21 20 20 125 15 e | @ | 265444
16-30/50 30 50 21 20 20 125 16 | MGMN400.. e | ® 265318 16-30/50 30 50 21 20 20 125 16 | MGMN400.. e | o 265446
18-50/80 50 80 21 20 20 125 18 MGGN400.. M5x20 L4 e | o 265320 18-50/80 50 80 21 20 20 125 18 MGGNA400.. M5x20 L4 e | o | 265448
20-80/160 80 160 21 20 20 125 20 | MRMN400.. ® | @ |265322 20-80/160 80 160 21 20 20 125 20 | MRMN400.. o | @ | 265450
22-160/400 | 160 400 21 20 20 125 22 e | @ 265324 22-160/400 160 400 21 20 20 125 22 ® | e | 265452
23-200/800 | 200 800 21 20 20 125 23 ® | o 265326 23-200/800 200 800 21 20 20 125 23 ® | o 265454
MGHH425R 15-20/36 20 36 26 25 25 150 15 e | @ 265328 MGHH425L 15-20/36 20 36 26 25 25 150 15 e | ® | 265456
16-30/50 30 50 26 25 25 150 16 | MGMN400.. e | ® 265330 16-30/50 30 50 26 2 25 150 16 | MGMN400.. e | e 265458
18-50/80 50 80 26 25 25 150 18 | MGGN400.. M5x20 L4 ® | e 265332 18-50/80 50 80 26 25 25 150 18 | MGGN400.. M5x20 L4 e | @ | 265460
20-80/160 80 160 26 25 25 150 20 MRMN400.. e | @ | 265334 20-80/160 80 160 26 25 25 150 20 MRMN400.. o | ® | 265462
22-160/400 160 400 26 25 25 150 22 e | ® | 265336 22-160/400 160 400 26 25 25 150 22 e | @ |265464
23-200/800 | 200 800 26 25 25 150 23 e | o 265338 23-200/800 200 800 26 25 25 150 23 ® | o 265466
MGHH520R 17-30/50 30 50 21 20 20 125 17 e | @ |265340 MGHH520L 17-30/50 30 50 21 20 20 125 17 e | ® | 265468
22-50/80 50 80 21 20 20 125 22  IMGMN500.. e | ® (265342 22-50/80 50 80 21 20 20 125 22  |IMGMNS500.. ® | @ 265470
26-80/160 80 160 21 20 20 125 26 |MGGN500.. M5x20 L4 e | o | 265344 26-80/160 80 160 21 20 20 125 26 |MGGN500.. M5x20 L4 e | @ 265472
28-160/400 160 400 21 20 20 125 28 |MRMN500.. o | @ | 265346 28-160/400 160 400 21 20 20 125 28 |MRMN500.. e | @ |265474
30-200/800 200 800 21 20 20 125 30 ® | e |265348 30-200/800 200 800 21 20 20 125 30 e | @ |265476
MGHH525R 17-30/50 30 50 26 25 25 150 17 e | e 265350 MGHH525L 17-30/50 30 50 26 25 25 150 17 e | e 265478
22-50/80 50 80 26 25 25 150 22  |MGMN500.. ® | @ |265352 22-50/80 50 80 26 25 25 150 22 |MGMN500.. e | @ | 265480
26-80/160 80 160 26 25 25 150 26 |MGGN500.. M5x20 L4 e | @ 265354 26-80/160 80 160 26 25 25) 150 26 |MGGN500.. M5x20 L4 e | @ 265482
28-160/400 | 160 | 400 26 25 25 150 28 |MRMNS500.. e | ® 265356 28-160/400 160 | 400 26 25 25 150 28 |MRMNS500.. e | e 265484
30-200/800 | 200 800 26 25 25 150 30 ® | e | 265358 30-200/800 200 800 26 25 25 150 30 e | & | 265486




End Face Grooving Tool End Face Grooving Tool

MGAH..R.. oDmin 12T MGAH..L.. BDMX ;. gDmin
L h1| ‘h - hl |h1
(MGAH..R) L | } L (MGAH..L)
Machining of End Face Grooving Workpiece Rotation Direction Tﬁax 7|b Machining of End Face Grooving Workpiece Rotation Direction bi Tm;il
f f
= (Inserts): A15-A16 (Toolholder Parts): A17-A18 R-Type = (Inserts): A15-A16 (Toolholder Parts): A17-A18 R-Type
Order Order
Number Number
MGAH216R  08-20/36 20 36 17 16 16 100 8 e | o | 265488 MGAH216L 08-20/36 20 36 17 16 16 100 8 e | ® 265616
10-30/50 30 50 17 16 16 100 10 e | e | 265490 10-30/50 30 50 17 16 16 100 10 ® | e |265618
12-50/80 50 | 80 17 16 16 | 100 | 12 |MGMN200.. o | o |265492 12-50/80 50 | 80 | 17 16 16 | 100 | 12 |MGMN200.. o | o |265620
1380160 | 80 | 160 | 17 | 16 | 16 | 100 | 13 mgﬁmggg M5x20 L4 o | o 265494 1380m60 | 80 | 160 | 17 | 16 | 16 | 100 | 13 mgﬁmggg M5x20 L4 o | o 265622
14-160/400 160 400 17 16 16 100 14 : e | o | 265496 14-160/400 160 400 17 16 16 100 14 . e | o | 265624
15-200/800 | 200 800 17 16 16 100 15 ® | o | 265498 15-200/800 200 800 17 16 16 100 15 ® | o | 265626
MGAH220R  08-20/36 20 36 21 20 20 125 8 e | e | 265500 MGAH220L  08-20/36 20 36 21 20 20 125 8 ® | e | 265628
10-30/50 30 50 21 20 20 125 10 e | o 265502 10-30/50 30 50 21 20 20 125 10 ® | @ 265630
12-50/80 50 | 80 | 21 | 20 | 20 | 125 | 12 mggs;gg“ 520 9 o | o |265504 12-50/80 50 | 80 | 21 | 20 | 20 | 125 | 12 mggsggg k20 ¥ o | o |265632
13-80/160 80 160 21 20 20 125 13 MRMN200:: ® | e | 265506 13-80/160 80 160 21 20 20 125 13 MRMNZOO:: ® | e | 265634
14-160/400 160 400 21 20 20 125 14 e | ® 265508 14-160/400 160 400 21 20 20 125 14 ® | ® | 265636
15-200/800 | 200 800 21 20 20 125 15 ® | @ |265510 15-200/800 200 800 21 20 20 125 15 ® | @ | 265638
MGAH225R  08-20/36 20 36 26 25 25 150 8 ® | e |265512 MGAH225L  08-20/36 20 36 26 25 25 150 8 e | o | 265640
10-30/50 30 50 26 25 25 150 10 MGMN200.. e | e |265514 10-30/50 30 50 26 25 25 150 10 MGMN200 . ® | e |265642
12-50/80 50 80 26 25 25 150 12 | MGGN200. . M5%20 L4 ® | o |265516 12-50/80 50 80 26 25 25 150 12 | MGeN200 . M5x20 L4 ® | e | 265644
13-80/160 80 160 26 25 25 150 13 | MRMN200.. ® | e |265518 13-80/160 80 160 26 25 25 150 13 | MRMN200.. ® | e | 265646
14-160/400 | 160 400 26 25 25 150 14 e | @ | 265520 14-160/400 160 400 26 25 25 150 14 ® | @ | 265648
15-200/800 | 200 800 26 25 25 150 15 ® | @ | 265522 15-200/800 200 800 26 25 25 150 15 ® | @ | 265650
MGAH2.5-20R  13-20/36 20 36 21 20 20 125 13 ® | e | 265524 MGAH2.5-20L  13-20/36 20 36 21 20 20 125 13 ® | o | 265652
15-30/50 30 50 21 20 20 125 15 e | o | 265526 15-30/50 30 50 21 20 20 125 18 ® | o 265654
16-50/80 50 | 80 | 21 | 20 | 20 | 125 | 16 mggﬁﬁgg 520 9 o | o (265528 16-50/80 50 | 80 | 21 | 20 | 20 | 125 | 16 mg’gs;gg - 9y o | o 265656
17-80/160 80 160 21 20 20 125 17 MRMN250:: ® | ® 265530 17-80/160 80 160 21 20 20 125 17 MRMN250:: e | @ 265658
18-160/400 | 160 400 21 20 20 125 18 ® | @ |265532 18-160/400 160 400 21 20 20 125 18 e | o | 265660
20-200/800 | 200 800 21 20 20 125 20 ® | @ | 265534 20-200/800 200 800 21 20 20 125 20 ® | o | 265662
MGAH2.5-25R  13-20/36 20 36 26 25 25 150 13 ® | ® 265536 MGAH2.5-25L  13-20/36 20 36 26 25 25 150 13 ® | @ | 265664
15-30/50 30 50 26 25 25 150 15 e | o 265538 15-30/50 30 50 26 25 25 150 15 ® | o 265666
16-50/80 50 | 80 | 26 | 25 | 25 | 150 | 16 |MOMNZR0-\ 9 o | o |265540 16-50/80 50 | 80 | 26 | 25 | 25 | 150 | 16 |\MOMNAS0-) 9 o | o 265668
17-80/160 80 160 26 25 25 150 17 MRMN250:: ® | e |265542 17-80/160 80 160 26 25 25 150 17 | MRMN250.. ® | e |265670
18-160/400 160 400 26 25 25 150 18 ® | @ | 265544 18-160/400 160 400 26 25 25 150 18 e | ® 265672
20-200/800 | 200 800 26 25 25 150 20 ® | @ | 265546 20-200/800 200 800 26 25 25 150 20 ® | o | 265674
MGAH320R 13-20/36 20 36 21 20 20 125 13 ® | o | 265548 MGAH320L 13-20/36 20 36 21 20 20 125 13 ® | @ 265676
15-30/50 30 50 21 20 20 125 15 | MGMN300.. ® | o | 265550 15-30/50 30 50 21 20 20 125 15 | MGMN300.. ® | o 265678
16-50/80 50 80 21 20 20 125 16 MGGN300.. M5%x20 L4 e | o | 265552 16-50/80 50 80 21 20 20 125 16 MGGN300.. M5x20 L4 ® | ® | 265680
17-80/160 80 160 21 20 20 125 17 | MRMN300.. ® | ® 265554 17-80/160 80 160 21 20 20 125 17 | MRMN300.. e | ® 265682
18-160/400 160 400 21 20 20 125 18 ® | @ | 265556 18-160/400 160 400 21 20 20 125 18 e | ® 265684
20-200/800 | 200 800 21 20 20 125 20 ® | @ | 265558 20-200/800 200 800 21 20 20 125 20 ® | o | 265686
MGAH325R  13-20/36 20 36 26 25 25 150 13 e | e | 265560 MGAH325L 13-20/36 20 36 26 25 25 150 13 ® | e | 265688
15-30/50 30 50 26 25 25 150 15 | MGMN300.. ® | ® 265562 15-30/50 30 50 26 25 25 150 15 | MGMN300.. e | ® 265690
16-50/80 50 80 26 25 25 150 16 MGGN300.. M5x20 L4 e | @ | 265564 16-50/80 50 80 26 25 25 150 16 MGGN300.. M5x20 L4 e | o | 265692
17-80/160 80 160 26 25 25 150 17 MRMN300.. ® | o | 265566 17-80/160 80 160 26 25 25 150 17 MRMN300.. e | @ 265694
18-160/400 160 400 26 25 25 150 18 ® | ® 265568 18-160/400 160 400 26 25 25 150 18 ® | @ | 265696
20-200/800 | 200 800 26 25 25 150 20 ® | @ | 265570 20-200/800 200 800 26 25 25 150 20 ® | o | 265698
MGAH420R 15-20/36 20 36 21 20 20 125 15 ® | ® 265572 MGAH420L 15-20/36 20 36 21 20 20 125 15 e | @ |265700
16-30/50 30 50 21 20 20 125 16 | MGMN400.. ® | ® 265574 16-30/50 30 50 21 20 20 125 16 | MGMN400.. e | e 265702
18-50/80 50 80 21 20 20 125 18 | MGGN400..| M5x20 L4 e | e |265576 18-50/80 50 80 21 20 20 125 18 | MGGN400..| M5x20 L4 e | e | 265704
20-80/160 80 160 21 20 20 125 20 MRMN400.. ® | @ 265578 20-80/160 80 160 21 20 20 125 20 MRMN400.. e | @ | 265706
22-160/400 160 400 21 20 20 125 22 e | o | 265580 22-160/400 160 400 21 20 20 125 22 e | e | 265708
23-200/800 | 200 800 21 20 20 125 23 e | e | 265582 23-200/800 200 800 21 20 20 125 23 e | o 265710
MGAH425R 15-20/36 20 36 26 25 25 150 15 ® | ® 265584 MGAH425L 15-20/36 20 36 26 25 25 150 15 e | @ 265712
16-30/50 30 50 26 25 25 150 16 | MGMN400.. ® | e | 265586 16-30/50 30 50 26 25 25 150 16 | MGMN400.. ® | e 265714
18-50/80 50 80 26 25 25 150 18 MGGN400.. M5x20 L4 ® | @ |265588 18-50/80 50 80 26 25 25 150 18 MGGN400.. M5x20 L4 e | o 265716
20-80/160 80 160 26 25 25 150 20 MRMN400.. e | @ 265590 20-80/160 80 160 26 25 25 150 20 MRMN400.. e | @ 265718
22-160/400 160 400 26 25 25 150 22 e | @ |265592 22-160/400 160 400 26 25 25 150 22 e | @ [265720
23-200/800 | 200 800 26 25 25 150 23 ® | o |265594 23-200/800 200 800 26 25 25 150 23 ® | e |265722
MGAH520R  17-30/50 30 50 21 20 20 125 17 e | e | 265596 MGAH520L 17-30/50 30 50 21 20 20 125 17 ® | e | 265724
22-50/80 50 80 21 20 20 125 22  |[MGMNS500.. e | e |265598 22-50/80 50 80 21 20 20 125 22 [MGMNS500.. ® | ® | 265726
26-80/160 80 160 21 20 20 125 26 |MGGNS500.. M5x20 L4 e | @ | 265600 26-80/160 80 160 21 20 20 125 26 |MGGNS500.. M5x20 L4 e | ® 265728
28-160/400 | 160 400 21 20 20 125 28 |MRMNS500.. e | e |265602 28-160/400 160 400 21 20 20 125 28 |MRMN500.. e | @ |265730
30-200/800 | 200 800 21 20 20 125 30 e | @ |265604 30-200/800 200 800 21 20 20 125 30 e | @ 265732
MGAH525R 17-30/50 30 50 26 25 25 150 17 ® | o | 265606 MGAH525L 17-30/50 30 50 26 25 25 150 17 e | o 265734
22-50/80 50 80 26 25 25 150 22 |MGMN500.. e | e 265608 22-50/80 50 80 26 25 25 150 22  |MGMN500.. ® | e 265736
26-80/160 80 160 26 25 25 150 26 |MGGN500.. M5x20 L4 e | @ 265610 26-80/160 80 160 26 25 25 150 26 |MGGNS500.. M5x20 L4 e | @ 265737
28-160/400 | 160 | 400 26 25 25 150 28 |MRMN500.. o | e (265612 28-160/400 160 | 400 26 25 25 150 28 |MRMNS500.. e | e 265738
30-200/800 | 200 800 26 25 25 150 30 o | o |265614 30-200/800 200 800 26 25 25 150 30 e | o 265739




OdomumansHbin umnoptep VKE Group - ba3oBas TexHuKa

+7(800) 511-57-54 o sales@baztehshop.ru




